https://controlengineers.ir

o https://t.me/controlengineers

https://www.instagram.com/controlengineers.ir




=S
el T s;,gfm webliy f:_«_‘:/yu‘,_r
\( Kg3 _ q d._/_,w u!blb,fu{../lﬁrw’ab @

*/}f(js///n&tf-o jldtv /e)!- ab’/"’ Ll /.;Mw}f, ’/(IHGW ‘*ﬂ b r.,-a

3 w’c% C,«gwé Oy wa,ﬂﬂaw g

+3£ Zac-fl-i’l(-fl+ iy §27) J/"J/j&‘(y 32). -j:a) C)L_gdl-hqfh‘ & . b

_ ,,,,rz,,,, e e __
,afjjudpuyf,/ - ( S’ym- S';w-—;r«ﬂ+ z( .Pym_;m 4 262+ 3H

‘ /4,},{,/&,3

” d-t‘

(,‘S’V(ﬂ +3SYSO+2Y(0) ). Tpto o XD

._";:i ) Ldm

) -
> (FrESe2))pr (SN0,
[’_‘,,ff+2

o = ﬁ-ﬂ

f:.' -2

_{_' '__zf _ '_,(—__tf‘
= 23 u— & (}Ze c}q(-.‘/




s

T3
qth = @ =S /r(f)x ) :E'L .

- R P T

,&1._.{’; S+3 f R - < - 7 SRR R

1 S(‘a’—ultspz) $(S<)5e) s tga S¢z

S+3
A= ,_?3._ PR L. SRR

(S8 €)) I (g <« { -tx

PR .

. 3({15‘2& {._. b rig -_.-L.. 4-,.2—.?}‘_1-_? -k ...zg.u(ﬁ_.z gi(_h#.‘{.e-z:[-ﬂ: ?3._




\\

al-/.,i/{r.j L b

O‘Aﬂ( ( rho é&”’qﬂ» ) /»uyyn; ,/,.a,.-,gj,,a, /-wcfgw / a{uc—" /JM(

_ ,4,__[.(.,,/»},&.@.;Z.@”}%&;ﬁz&k Ry

! CoNoer - Vm\/,,; ﬁ,pbuféwé’ 5 O TR
) - pr— N ()

-—&\J
L

I.co s
_ : - -
Vi Les%rcs+! |

Vo)

LesSpese!




i2

Cs+lre+1p,

ety L
\ Y . \

\el’g—?‘ (ﬂ\ =L Kl
(O g, S +mtia)=a “ J .

e




3

/ r -
g ._._ch/;l) e

Mo - BT O J i

~y

o, C_J..m? R il ol o prs ,-f-d@,,\yﬂ;c)gp h.é,.rf!,




=

Twwm %

£ controlengineers :%
© @controlenginee




S (S—+) C j”"{(

Va

.ﬁﬁ' WMM

mcontrolengmeers in]

O(“controlengmeer



&

atby\/ L (C
P_o y;,\_/ /prﬁ“ﬁlﬂl f‘/pr/f;r./ojwbdﬂt "-’1""‘ OL\J{"/W//\“//

: e P
ﬁ/v/f o [ o jvf,s,fw,,az; .

]free,booél dfogmm) SIx r le a.l..z i

},j( C/%'; rv'/af&#(fb_,#y;

—— r_)) ;[:,u)

voun | Q&,..__

Md— gtf?f‘f‘ krch = -ﬁa_c_&:"b‘_"", "M":rz,}{w-rb"f%éﬂﬂ'mﬂ: Lo

—_— sz

o (Mf+6f+k),rcd Fo —» Go=1C8 _ |
£ controlengineers.i
O@controlengmeel; i\




N\ \\:\L

AR Ty
: )
"
S

Q(H‘tl)ll “* .(_‘

‘f“‘*f”'(vr’fp’)f—f;/

u&w ﬁm’,-w o

Q -8 )Jdl(-h

d Al H’ ( (& %) ‘h! h (k!-f—’ tZ)XI -+ — 6}#%&- ke L2th = .é@f; f

£ controlengineers

® \ |

© @controlenginee



(#

r'bz J ;

Mzw M) f"/} q/oJ

yu//ws_/,w\_/,,.j‘, Mz . ’f’{/’gﬁ'

A v
A{'f(/’ Mo r"/‘? }),JCAJ Mz l—'jr_u&'(}’ &

NAg A e o M2 P

(kzskgne th

2,
Az

Kzt

X((f’ WZ§ 48, < By)S <Kty — {2 e XHS’____G‘(;},:

let (A) dert a7 -

| A




(s

“lfgl' ( B+Cg)5+ (teba) Ceco
— (BpS4 kEe) - % (B}J’.pkz)/:z-) S SRS NPT U

bt e I gy

o .X;(ﬂ.;. .




19

: d..{‘é _%J,LJ«,;O»@ZL Jot!

oﬂ&«rﬁ.f«ﬁrcp Vb i Jootad b c&{,ub 3‘)..,/0}1( , /‘,rt/f by gl erfwf (

e B o W -
FZ . M &




—

-

e




ol

NP S {1 €+ FSp—

MEFEES e Cliely)  — oSk )

BB lg) -M@viﬁaﬁb&)

o

Fto ~(BzSelz) \ Mﬁ-ts...-sg;g,(m‘,, . A

H-:.‘S-t-CGmB-;}S..dz.Q?) - ngf-f*'z)

IS




- |

= e tinol Meckamrcal Golbws 1Ly ___é_{ra
i L')‘ L i
v oP”uro,.a(F) A db_.,rv,;{woh MJJ)(J’L’&/#-”’ s {
% U,)ap [..\,«J

'J; )u




(W)g"f" i""»’"’g{?f' @’) MLJ

- &
s

VLt /N 7A

z ¢




Z5

- = Od=Ruz = %2

D o e
Q R QJ%@@}@LQL« ) ol u/«/._:ibo*
SR st A

Lo ”_ _'&‘9 e
T G "6 %’“Wf’@




5

(

s
Yewtix T ydeby

(_%72}5-”5_‘"'/“. S (3 [5&4[.(%—)73-«'

&




26

7 e RS CORRISSON »&/‘ﬁ)bdiv(uiréwr_}/

. Y / e - -
. »g«{rwd'?»;yn!ﬁcﬁcfw, 4! ko o Caty s €
- .- " 2 - M - : ) - B /f
, K. 3 N/ C:"/; @/’/J/’._,_r/_/_lfc/)-_ f =Rt 0¥ ),»,w}v %,‘,'}Q&L 14 abu(ﬂ.,sy-'
' ‘ R
S L‘ﬂ/&,) ) (‘_./fl

p el |
H
0 H . -




2t

Ci"J/)‘pC; 3 . e 2 e
Frrece Cro G- Siat G A PTG ok

L

(o C’Lof'cé:eb/jf/ 4

_ %,{(.ﬁ / " . / A
= « = (¢ -—ht

)= Gt @ Ry = fﬁu_____ : fig =R
W Bl ﬁ,uﬂ" BiGutel

e'lk tﬂ @G’J"FI
HCS + oD




o
Hiehy o
Ly ——"hat2
e
NS R\
"o e _
l %&i . l "k{.i .
T
Cs+h,  —lw, \[ho] [T
', Cielg, || hts
CSelie,  Fn'? |
._J/R. o
s
= ‘ Ce'ey, —'I¢ )
| 'R :

K

_—

K1/
hct2 (3= g
- ) /
—J
o (¥ KRCiCe 13 (foral) 240~ )




29

1, B ﬁfm ,,‘1»1_2./ ~pr‘n=—|£n 1+‘p<'l ) Q-2 )+ P

fm £m+ ﬂ(’* 1 (=)

;3-7‘ =1P(11-« f('z.lz f&.)(&@Q
x ;%“_..1_,1‘ [ i \‘

_ E‘; Sy

L¥3N

S N G b
i "’ b o HEBLE o b G
| _ - 2 Uff’, )w g 46

< U,IA.-/&




-/};"ap' ?‘=|_____ ,ﬁ,ﬂ& ), oy .:_..p.m;.mz Z/LP/!‘ e 0)@3

......H.‘_’.’..‘.e{l]‘_:-‘lz N :P(("H-_:ZI = & .-9—(‘1.)...91..:(21). B IR 7
B #/éﬁ(tl g= '12 5‘-’/0"{‘ 4 -2 — &—#_s 7@~ = §= 2A~)

A=\ == 3 = =l = Y=
S A=l2 == y= 4 A= = 3 =22 =)

1=L -—_‘:'37.4 ” 2=2 = Y=2p2-

. . S o
u)é..»_V%’é"’/ UE"’J“’U»{ ffé(ﬂrglba’. .

I
ﬂ%}”"wl’d& N/‘gf h ’ )/ 78
~ s v e = L T
d s Moy O X gos \ ot pr (5 {w’ff?_"d'h//’lv{bl& e N
f At Pi5 0 O

- - - E ' e - / - - b
Low bl Sy A gt (_)l»...«F; Ol Calet oor :r-;-’abh;;‘:éyc&w

-~

Uﬁz+1zﬁ-+/;'= x

7 d:./}/é-ltltuf__/c){gr;’ébwi w
. \.JL.:_/F:’ :/,J _ Jﬂ_lﬂ'l’ob&":'*‘f’/:; _ | -

o ) e L e
o Ao y ;ry@;c)bf»'wf,‘}obw}g—’\_)ae!/'d@'
ey ) [;ﬂ ’ ’

7




31

>
A»J-a'ged e (")”'w’ N eop rw’c/»!u-/%"// ‘abﬂztjﬂ»bfﬂd L&f/&f

ey Sy i
J’/‘"ﬂ“/’dh v"“ﬂv’ “ﬁﬁ'b T P -9 Uw»/‘rv*(‘y A Gju,;q»;_//,;
y =p.+ Y tg_-»% % gt U U ey L

. r‘/u’w#c/'/r““i“"‘ ( £565,5 AN s>

| . ° - ’1:1-4—?1
wiho! | STy
o {a}_m r‘f’_, Ly y= Y+ :y

5 . P

|
‘f-r . ‘-@ .~
Oﬁ B b‘;, . o . . C/},ﬂ’?,:

_ '/((,T//* Qw/&w/’} (s fan,) l%c;d_.;c}'&m,b A Y s ,L_-J/./

— - (o C P e s
s Sy m‘%+-‘-—-%=& : |
prLs AR 2O




33
- ( Time rpqpewse analyeis ) Z)é“/m,/g:f d’E’
o )}ZC;W {)é OC) éﬂ bbfwﬂ ﬁ{s‘j&gfd‘; ‘J"A;@Jé@; e
i e M@fé’gf = ﬁ:ﬂdﬁfg&,ﬂc’/fﬁ \_N/-’/V/&'i"‘ s .
g}’,&,&,’/@ka@ ;L} + EL...'C;’&( .Jta;z, s b 9“,& ‘ﬁf'b—/_f“-—/g“ o

r“':..y/’/’;hi ’é,ﬁ;f'/vﬂ!';w Of’;dg’(?ﬁ)’JN%{/}/,ﬂgfﬁ”ﬂ !?,:‘:
S | '*;{dgé'éjf/f(-%_a’@;_},afﬁ
y T el e s ) o e

_ Z/}‘—v’)’-—'/‘fa_»t//} g,/,v./,{_/, —+ ( l:_ifyb,:/; H ’L"’z‘“i_d{" (\L/

Guere SHXE2D)
($+2)3¢67)
Gicr= Sel
= { y ‘?(,'
_#FI__‘_ . nT — > d’f"" - '
5 ! . _ e

rj'w@a Whes ) logey X b,

*fﬁf&“(&w@g/ﬁ
'/ﬂz,f'f Cld.o[rdauc,‘/{?y__tm/g

'A’WWC
o " -
P v M”M"‘f v I




yr? Q;:‘;

s e

S 5




35
ol Sg? | i fn
w{, ; : finicn oo s j’_— =
_____,G_m:m._y’_ s S AL .r)aaf/,..g/,?lcﬂub,);&],ﬁnc'f’q. .
- L 4

SysTem gain [«:J.ﬁv Lk
Time Gttt Guol :T7 0 T

Ve

l.’ : , S s o e e it i
B . T

= g(-h iy YU-I"- e(_fl G(ﬂ: k = k(T
TS5+l S+l

- T
9=k e utb
/ T




ye=2T)= kU —€ )= €((— y25)
{

§t=4T)= kl—2 )-ka-Yus) =

Lt

GG/.
tr= 22l

SIS 98k /

5/

QO B R e A St LIy




37

1ty w" o »’cfdf/"/'/m’" »—/Q‘f a’ézfﬁu o ,wf A/,.,/ Yo bty

i ,__:,4 R
¢

s ,u/m Laro q/!// ¢ G

’tL)’/‘/) _LOJ/.J (ﬂywo_.ab frl‘f.s M” ‘w-c/ﬂ “""/‘/O’U/k/

 pI P T s 1o it p o)) 5

L 4

= K C:fz,r w kT

= el
Tf“' e




4

_4.___!___5- oe i W/,;Orm._/,y/f;,ﬂ/r.,u cﬁwb,)
3 g St *

/ f"~/2rof & v Jraid i80S s

Na‘f%f ﬁz?w ( U/'.,J a{..b(_/
Cunpiy e dy@q&@?‘ i

2
@‘r‘:y B }%a,,..?f-m“:_-:.. =

-w’f )
= = ke ~+ lae

OQ U.,er,, o apTical dumped uj&a,’.,»w y p=t =Y
"4 -—-Q’J '-'*%.;_’
= y oy = 3({;-— ke + I te 1’7""’; b

h-a/ur ‘1 O[z,«*—/({ ,.,)J(}‘/\,v ¢ 105»%9,» r~""~"‘

S,
re




. g@,.-_-..k.e. .fh..(.?l"+<.?).. .r/‘v'zf

N\

fﬂ}'/\/y/wgﬂ»wwa : (Wal) ‘wa% ..

- Sg = .‘idu\a | = g1= Em(w,,{;} & ,-"




S"ﬂ = —sﬁwﬂijphv.[??.. . ot STy Y SR YA -(r('.. 4

2
H o

L]
£ gromFeen’? T A emt

w‘z Wn - %/‘_“z /( (?,z

L=

(S’-eﬁ"'}zﬂ- “iuz('l—_(-z') @'ff&m ){f— wnz((?ozj

WZE : vl = Gunlln =

B ".t}fu*f" o

= Y= “n_ e SM(...umJtvfl.ﬂ. | ‘('M'n-f'..o(

72—t
= yeh= _‘i’:‘_e Si(wat)
[2\)

- i -
> et QO fRb
/:’Ja’ff 03}/ s fud




4\

B« C

2
Y= Gallo- L o - B, E ;
S 5% penSead % pomSear?
Sﬂ-iﬁmﬁg{l
N P
A(n;en.‘ip £) g BEAEIS T s,

el — u\": grom +m2.el+ BeC..... .
5=l = (o = Zumtw bl +6-C

: : o 2
2wl = zmlelel8 —> B= om—"N
Cs ,?%_-zfgg_g‘am—r-h(,.h_%_ _

-ﬁ:’

@ L— e Ti (it F) - Cﬂrfaf_‘i
wd o
. e e i
wn

f‘vﬁ’: ‘at—HS'\——-—

-2

g/gz :: _ -u.' wr

¢? = & § =toe =




el

1

i

|

e il
- o

Dt = 28 Gt ,.)@..c,-pw RIS ;@Is"
.)&L‘,. 4= ._g.i‘—f,-e-»‘:r)ah- o i) <k

ié C@/w 50/ f‘U/“f/jr”y b/.__/~=r De(ag"‘"

I\E‘

VoY, )Oo-:/i‘br;rrﬁb}uj
- les 7.

> 1 Saphic 9, i
- . o
o=t T
3(1‘;4:)- '.(u): |
9w

= O

- -

",\J'

()'/Wm, o0l s ,f,Jf,-/ b :ﬂ/ wbd/ ¥

Ay r@,‘/d.:/,;;},,; wa 5 f X
o7 O N N YA 2 e e L) e g Ben e
e ts== e T O Ay Jigs) IO b [k Cip® Wﬂ A X

42 |




43

Swthony 4

-

- ,; {u”ffd-w »—-/Jb,y/‘ /Wfr""%/(-—/)'/ll/ oA frrr =©

,\_/(/Q_b /a’lph-l’/\_/yv ‘O’?V/’/‘"’f’ ,‘ﬁy#/,ob// » u/w(c/ﬂ/k_/)/ ij,!

u,.u \_JM’J

£ 03. 7. 0.8. ).
o 5/. 4687
o6 ls /| 9.4%/
o5 &) 16-37.
595 Y4 20.537
.4 27/, 25.387
6.35 3q)l 30. 92y

o e S

: fi }_m i, o‘%2

6303 o)

wg’w/awl«'oaw t —

(/M.e

@éfg 4 %) toher) »l'aqdr-/

I o -
__ N’,_Lo}o' ) )ngﬁro’-olv % -

& 0.8.) 0.8.7,
0.3 3F) $7.25)
0.25 45 ), e Al
02 52) 52266
ALY 6z) | 4 62)
o\ -‘fgz ,_,\_\-‘fz-‘izz
ov5 g5 &54%Y

s
(_.J fﬂ ,\/j dco[.,/r.-,ﬂ(\,)/\. }/M/U/"’(j" &’ //”L;JjJ/L’Jf/

Qﬂp-{w’/ gjf/ Qo Ay bty §

—_—

2 . o 2> —
A%f/ﬂ,f;_.z,;,/fﬁp tpyteshi

— ‘?;?‘f“ - - 'r:n ~ o -'/I
T MEOW e oL s I01C0 B, & O — A

,/ P e, P ,
W ho rfol o=

o
(S =222 ") ‘dﬁ})ﬁo’ljw‘/-&- —




44

L o 7 ’/
S led

—— ~ 7 ¥ o Jj}

__’

i -__-: _l

%ﬂm.yy@y 6},,:, _

.~ /

Hf= wmy ( fa//{-—'f‘?- la)if 1=41 s/t/—7=. ‘DX‘(¥( =%l

T—-ﬁf‘ _ mf = 4/1-?

r—- — =
‘fJ':-z——:-ﬁ—-’-—-— ;Fi"’ﬁ e T o %
b
ok
==z =



45 - 2t
‘LJ J/J.,

p-/oq,// ; 2 fﬁ'/ (,V_/M,J ¢2Z sec. ‘-m‘t.a-uﬂ/ U.‘pﬂ,wbnuls "j!,,,,a‘ df-:ﬂ

-f-g‘:."“zﬁ i == =2 : : ! - e R i ﬁf/h/Zf f".“écq

4

.o.f...:;s'z.. - Foof = 6:..6,.-.14,5 =& ®

1B,

= : (_,Jlo b
5 i i Lyi’/!w f . ‘*“"""'“‘/‘V"

-4 @

yr= —1L° ST . -
TS 1 N $18) £ sl S¢lo
....[o't
— Yy = (I - -- e ... )uw



Ol
we X

\

| ; . = ‘ e fﬁ*":..;»’-ﬂ '.,../-'"
_,l/, & e A b C_);“" .ﬂu’d«.’y(f,ﬁ,’,;% /,:r,._/agq___g—;_-u._ (_,.nv :,J,L,,, g’

— “- ) - . -7 . ; - - ’//o . ‘-—-(
e seote b A O ﬁm/ N H Ny o€

Tt 00 AT g 65 1 Sty = wf/f’&f/

N v | | _
o ﬁ'}’olln C—WMJJOJ\’_,—-‘LH’; o J - LJV \ Cﬂ‘/“'{'c.)‘f\/‘ e

- s e (,,j,' & ‘)U!lai’/yl;vjs-!
(selfsete) — S+1 ‘ ':-u/g ’

o
2, .-’/p/, o&/ﬁwaw/%/;
b (G 1 O

—_— v Y
) —
o e .
bty
I
| O
(s%28+e3# )3+ Sl
d)
1 = Vlao ~ ’/l.uv
(S+1 (Sl Sel=<)  (S+IKsH=) S4l

P R
| ) __}M (y
(S+1)S+4) 4 é{

Q




51|

.81.30(;".4 = L -

C»!BIBO/M ru"a ‘VWMH ~OgE< w0 -’ffr“/F‘/u /MD Sty F‘ de' r—"sf»bﬂi i

3&) "/‘”Z/‘ 1irt f‘“”"’" )ﬂobo,yﬂowo,:cp} BIRo cr/,o!.x LTl ““’r’“"‘f"f" J) s b
j lga:nolt #n m9 Mﬂ{’d)’ %, ] f,,u/w CJ,M_

| Yy w‘m o,ﬂab@ ,c-lé« oaka/)

o B '\--L' g

g
K il et ru"of'ybseb Pl @Mw@fb, cr),,;od,b b TL r""""’ vk J-vba*,

(/Jroﬁw ,L-LGIUJ»J of’r‘ow/zvﬂa“wd}& 5&v~nﬂ*gtﬂ f 3rt:reé—a°'t (5)
lyw ] = lf 3(tlrtt-f:JJ£:[ f psw);lr&—e)!ot'

/
%AQ'M, Gt (rcaKo( %:ﬂ(wf ,uﬁ P (,wca;w.,»c,..;.,,; rs./cf,,,; r,-o’@, :

;,:,d» G ra-—w  Gueaniip”

flg(cﬂ:lt <l&<w
e ,,,.,,_,,., Ay
e P
,-4r ol Nekwﬂ/b ,..)6»4///@",\: uoﬂn O,,mzm -2 af/;’r/ @”J/zéo,(x{‘a»’/,»ﬁfb U?Pdsw,)‘;c.y) v
4 ) e
lc;du@fgr/ ‘W'J-' J,e. ﬁwwﬂﬂbp&%ﬂo@wmowﬂ ,L/W,uma!ws, Jo G

-

R R /d?pﬁo,
N m:v C/l’r./f'af r..,,pZ:' Oéfd,uo@r/‘ady(brubg ;_/bqrrl_,v-ad,wcvi, Qw J‘ch.,
G«&J ﬁfgw}’ f gc—he e

. :@biaml fow
l&ml-— l/ 3&49 dﬁ—l < f{gwne (dt ¢

(1
I
111
HT

g!!

r/
c,tu,»aﬂ pS (9B Co” o ;c?»-bw & ol » Nﬁai__,fauagm o,,a Loro,f,uiwﬁ @ :M

y R

Ay



—

l-ze s le e JadeT @x.ywd- ;e p b,j.. le

el f }3&-)”;«-{ it
mp‘_y, }D’,ﬁ &a/ﬁ' IG(Q] .ﬂb‘ W"L’L"’ QW Gbob”s re’o’a/’.g**‘ ‘

f lgeblte WdE .+ Geckes my
/r c_,,.! /.by,,},p e Y (z../b Ja ,} cy!.uv/ Gwe W)M&o-,még

er(f;h#fe,/-lyﬂ/ﬂlo"b OJ f ;/ e /Iu (zuldu\ /)?'IQ G(f) GLW)

? \(f lgchue \( ftgcﬁlxldt / '3({1’&
'_'_”_'_'p@,,y:vmv‘u,-@ ﬁgww A Jlﬂ ,,;,;,,;wn,ja g dech ai




5l

(stabilfy Ll

-2

.ngWl(Bunkd L(ﬁl" BmdedOutp.‘f) G18c cfi!vj [;,:u,'l é&/jjb/ﬁﬂ (‘ébdqu:”),ﬂ,). -

/, /. . | _..a ’ //, | R
y Cln ‘W-/&,: ,._4,,5'/':,'9;;; ’ );_/q';b‘-_/',ﬂ)#;cc,},/ /muw_op BL3o .‘;/,‘i',u_’b
Satle S

i o A I v ¥ z_,ﬂ,,/d 2
- unslabe

/_-ba,"\rj_—’/’./}-‘ Yt ath e = yd <

‘)4"/;:/ JM K

o

f 1R

- b

I bt pcp,\.-iz_:;,f/,tv.. ¢ r:“’w:
%ﬁ”*f*’/"””’r’yb vl
W/JAL Y //ufba
e v - T J 2 = /
ij,;_%»dffﬂm_/,jm o, [l 4 —

&MMJ‘A B e 2 it cff__&:/ a}_ff .

~
,_/rr)s_/'jd ,:/J; ) ,,IMJW,J)L&G'@MJ}I__

Ay
nlllsﬁhl 1

-

"' ,:,}.J,-a) Ml?yﬁ’r/bf’fr/ A}U{"y/f P »—// Ca..a o
' Cw"’#*‘r-»ﬁmhr‘ayy Jusse sieCle ij (),ww,.»
r—dlpr oy ,--/d’aﬂ,‘:i D) Nu’{j,-u cr upb -




1 - 'd“d o
e ¥
.‘_..__i.__&.__—d.————-—-——;»“ .‘ ol of >
1l.

L4

T

N
A

X) jenZMis 1t ardo

> - ~
oS e ot
oy on Routhe HursiTe

o \@ (Routh Hursie ) oy g2 - o >
A1 | /
$

DT - —y b m F &
po= st afa a‘tf*“' Bl el
s sl Ghto " o
St ge B G ot MRl o —y il )y

, raE: TR
"/‘_ff_‘b'a"_/')-MJ.}’r Qn > -~ A1 Qe c.__w/w[’u il

B (2 G Gyl e (2

: l ‘nf"-'.-:v"crk’z" PR I AT Yo "r/.
o DR by A b 08 e g n e
Lorbl2 )y (' waR 2 AWM 0 I Cpos s (Ao Y o L L

- - —

_ o Dyl o ’-,# b cop L2 -C;LLJ-L‘ Fjo,"; Pl
- N - . - — y - ' .ﬂ; s , /,' ) - e il
(ks b el )Ll b A Op o), Ny sidy s i




53

- An o4 af
™oy Q3 g agx -
S'\-l b| b‘l b‘j -
gt Cy Ca Cz bl
S

al Ql ag ? -y
L as
Ol" r—— ) C?' =
b] bl b‘

Sy ) ciar (Ja:/g'- L//’nl-'
WLl o F o, ity b
¥

P CA D2 ™ Dltagprt T gl

o e e e :
Ay ot Tt )i

- 7(.,_§ . ¢4 2st2s%4t 45
- [T X FE e :

T




. | ‘_ // , ‘
ot r—/b/.r,y /L-"U’[ZL:/},/;Q‘ L o T P@z
-_‘;‘:‘ﬂbf rd{p- ﬁ,;fcj/ B .rgd'r,_b.f.lf 2 44&/’ » a}b.,‘}: . ‘(.’/ ; 0&’0’2‘)/4 s

3 z
pie) = fb;' Z$q+.3'f+f.r+5-f +3

s i

4

S . BRENRE L

3

< /,a? teccciole
5 _[5;7

I |4 4ze49
s i2e 14 Al

. . = ' -/ - - = -// . ". i
O":}: eyl Aol -‘-;"va-/’uf/' b Vi }/5// ws S lts S Al

P

b 4

6
k|
z

a2

o

T z : .
2 4 pin= Sizsq,,zs +4¢ NS lo (0 b Ubwﬁlffffff&
R T 2 N d
e

C{J)}_:;’o;y; (_{,d/l T ~ £ )&d* ;d,}c)//»_:-lv/.;bﬂ,; _

59

ISR WY B 5% r’”‘:’wr’”;' MO —
Pt Ao ot K o G 2

= e (1000 o[ e O Yl ke vid
~ - e . ‘ / ‘ = -‘/’ 2 : -
Sy s i) b aygh :j/yl.l" N 2 e

: 2o UGQ% »

5 ,
2 Tt %€ ¢ 3¢ ¢ st WeAH
e A e N M =T
e % fe-1 (4e-F)
_ —efdte-ug
\2é- 4

s

s ot jro B2 o pr i 02

/'{_9

r’f’»‘d/‘..}f'qc/-):’ ;’Lyb.f‘ /




66

psi= AN LGN VL TR W T O ) e _ e e o g
° [y ¢ A b _
v
st |2 %2 Pt ,_,n/rfok..- DCri.z...?.fq..p‘?ZIi_E'(
2z
g |2 56 I LY A T
st |28 - “

JGLMJ“ du‘&’wdm
),-v-m»’ 5’5 ! /W:VL

“
& Fh. pwest

-

dDm-_‘f;f

—_— = o




56
Tl o S 0 e ) = ﬁ&%% Gwiy

2 2
I2(= _.‘S'q-q- .?zso = ={(8-U=¢ = <o 0,4, =\

. ~ 2 ’ " - _ > - 5
.-)_,_,)_ jﬁ/)fgd;ou‘;:__j/’} 7 _.s’-svto p{“—é‘l]/ ,:f/,)) ‘d“ﬂfwdﬁ:—'&’) fpﬂt—f}\bm& ﬁdq’

. ‘,,/r, / ,_,, . _4 N P
: (’fpar_..mb&_ VS P ) ([ bﬁ'c:m/} S thper” o~ M D ) Giar]t

S.s_‘.__s’s R < L A W &‘__

o s%s-

- 657 _s4b

AP ottt s - X5%86)

_6':‘41- L i \
- po= {f— APETTIR ¥ @ : e

4 3 2
-50 __ > dJ"rJJ'ﬂ D= 28 44fS_%e

IS _ 55T aps
dt




-
- Lok
B O»A’Q'L) pt ')C'»-—Jz ¢ J“oﬂ;‘# « "!J; ;W’J& Jﬂ f;f(fy ‘;O*LM’«»“L—-‘/"J“"’"M/’ r"ﬁb”

z-/ﬁ‘,-«/(wb»fcsa Mww y\ e “kw,vu’a BT d«-/m 1)t ,w—'

Mﬂ)‘ﬂ/dﬁu ol it e o, W,m,wédy ‘

p(s) @*1)(849)(31) 9*9"+1£+zr+3+| e dﬁ- ui

B

d,]_)!u,f'a’,#" a,l,f,u ) r-'_;/g.._og,wfn_-;t‘, /)ej; J?./"Alﬁﬂ/&,mﬁ’/aﬂof(‘fﬂﬂ > ol

=
5 i NN v Fo N . o

; '9.‘ | & RS ST T WG Wy ¢
.6 2

N N
Wb Lho i S
oy GGl Ge 45
et wwd"w“wﬂ W. .

'f,g. 2871 mf/JJ es"/'bff‘ o,:dbu 2

ey C.:},_{/-jl,-«:_/é.a, D Ch~

.'._;_ea;,fa 25 ?"'»" e cutpoz ,u,mgpwr,,w Bk .

Md,..ul; y, /o ll»‘,bu,lo_y

"




~

: (:;;;:)j‘(s‘ b &(L:th»'-ﬁ,s_ﬂf”;.‘ L
- );f,!f ) 6};0{)# ,;/.M’;,LL/ b ff/:;):'o‘(-:‘: b m#-'mfblf.wu; h:a; s}bd‘g,_f;',f,f,a.u grs s
e hi e s sl
LGOI O L o A N WO Collepe ok (4l
Gk G sy JONe I S L Ak con iy
Oy c;béfp,j,z@s&ﬁ&wmb—dyld)&;é) > );a’u.!-i_"/,& dys ew /f./)b@if g &
ikl Gor cr;jﬁ}?& (IS,
c»/ JUM}}.b ,u,,d;/r 7% d)"ﬂ'?-duﬁ/-b){t” O ;o’wwr/,,m: a,wg" u’g«& oh-e,wy! : o
” )bw#uf /cme-'// VMW

oty b8/ 0 po e 1) it

C,,wyg,p gr,d,}o,-/; S, {},,:n),b,}, x,&,,,oamdfa

b(—*}),OP

:s,.u, —ﬁ—;—*—kc’?r“”"}‘“"a‘ (AM&W;) ! .;é g & >
» | . - -a a

(:’:}Id//"/’/’ N’-}/ﬂ eﬂ c}.oﬁrpé B
i %«w’ ’u.#’,&/a ,5 Ju ) ,ou.t’p & gl

&J),wfcuué/.,o 2 Sl gt WO

— A 5 ¥ x :
Q,r.:)r‘).,w q«_:({/) Qfa;ai:,a-pmz) : 8 #
n s TR

e
v

; e =
tf’)lh_l’ ) S 9'/) /Vt‘ ’W‘:‘E/d./),})’&ul r)”,_p ) ;mﬁj,(j;/,)c,_] 5

,},f J)J;;/ck,(cy’o b cb § w)al—aﬂ ¢ .cb,))au' b

((Z’O Ludv;) apJOL.w £y »,.)56/,5 i) s

Mﬂcr‘c.-u/,,g, i ¢ u,idwd/dﬂff‘pf"‘/»")”



hE—2 P Rabe 2 Ablstacy )
T TR
) 87 st Col ps Y IE  ( JOL Do <o) i o) Wi i
gVN;!&o)CJw)es boph ¥ m*fr/gfc-brwac;w CJ/MH&IOM ,«-f—,u/w%w’s
Sbs)g b cp 2hpny C»lu,:;v ALY lurloainc ¢ i o, Clg e
L L e s e S0 0
2 KA i Jb .+ () Gmb). Lo b, €A ) Cas” Ojln n
dl,i'uJGb‘roJuﬁwu’u&va’VJwﬂ (i tnh) G | s S -

Mcfwrwﬁyf’d’/ qvlw(_rg,u !Mat-’cp//v//.-r pa/, ,a,/;,J.JJ.a,,fcg,,C}Q Lo

T B ,«_/o,,-,,o,,;(../ab;w;m !

L =

i S S — IO . . -
e g Loy - L J4 A ag?o,hnc,ézg Ao ( r}:ﬁﬂ,b’i}.&/qy/f

~

x

<
r

) - - i i A Nl &
")_/P,;b,n' O,‘,.e)r‘_‘/rtﬂpo:b ,"'/")_gaﬁb Md'/ﬂ' cab Q/: C),m_a_-}; =é ,'.,t:,,Jwa

——
i

:0,) aJ/cﬂorpb,d/’,)/p o Q-t&,« c._.lp,:d‘lqu//d ,-v’ﬂ,-«fau,a r/b, » )& gg,._.n..._)(),f(/d A.Ju;

»/owbww/..o a(fcﬂc)ﬂ,aJ,ﬂ- syt Shdp s', 87 wwijut

: : t, { :;,Jn,@;é;b.»ﬂ:,»»,,‘. ﬁ | 5 q P
\‘ AR S
X [ 4

9

Q : .
8 LS Sohya bt Oy pe 'i-ﬂwc;a

Bl P dIOFs Gt 4§ cphClictals (Toip



. B30
3

35,248 255 S
AT P L WOITRNT L0y
. 15?—(—433. —59° =9 {)(1.?-.: (gq_lrijilfx-f@)_ .
= N

= WY
~2 = |

_ _67

- - i i ‘ - - - o
(TG 8 S el b o S =a “”’k—uﬁ;%’diw

g=a 87C0, () Ctpem e Yo,y M a0 ,fb\lzjf/ -

-
?”\_f’"’ E—Z-., .]

g .2
P =3 +85 9512

/ . v s ) N -. . g _ )
’*-w'g."rol-'u,._{:kf_’f Mg g=e b Cor e e’ 2ot p

s B e rﬂ:%ap.b; 'y d-b:_, ),&3;-—2— é.;’ Qﬁ,\_;;‘_:“«;:_-_’},)k‘::)

3 2 .| 2 2 ) _
=G O% 8D Qs Ve = 9-63+IZS,——?+?S’—32.-§+37— +198-38 +\2

PLo = s
= S?f?- 93_.3-2.




N o O - |
o ol it AN DR iy BT s S
" | -2

Ty Vs 4 ) . ot

s_wf-——'f‘}'.../;g/t ‘;(.;). ﬂ,m.._,{..,,,‘/;f__gw f’b"‘“‘“’/"b"f

Wb J JorS G i p Y Ll by b L se2 o
N 3 = - . - .

b St b Sty 2y ) FABE S

A)FW,AJ(‘W[«-/%J \/}4 K 5. /k—-/f,/‘awbv

(k(ﬁsk Jig
368 2N $4P
L 2
' f(1+2¢) \
(=t s 29)
r-*-)"“’ 72 w= Y8 e T e e
M( T e “t (k+8)S+20k
' =2 P(§!=S+5-f+(k+()-f+2°k
3
s ’ [
s

5 L-J J

e = k<2£> | _"_W;‘Z)-'

2 g sgk<2
\ 2&&}- — > . ]

.
227 02 Joly () Ip\

58

-~ &




/P ;
.ﬁa#-ﬂ&f‘c emir .'/Lpbu’b-déb}

- ; - Rt o
ed1= re-yey (_,.,lcf,,a}rf (f”,,_.,'l/ d,wo}w,.:/:&;‘_{,o

f—s

5 . NN < . :
ﬁﬁs-d\'m e ___d',..,-eé'(fj . :))-/O"")bd"' WQ.QJ/@,J,J,W(P dalsloyihs ‘
"t - = v

,_.:a”w/; o b r:/,{)(_)mfudj’bl b @y it o uids,

;.0 \ - ./ e | o!/
g, Dl QU e ;7\_,1 2 ) s

reg 1 - 'GHJTW
Y@= R Teo= R Q9 _ = e - 8 K Raol- Y
1<G 0
=  Flsl= ge/- RO _Gw =Gl | - ) =1
R 1 +GQ L) ( Gig)

(PG L) oy ;{ﬁ\@a ]
| S—>e

Mh=uhr =

Rkl ( /
Rt =L = b ——— = R = i NV,
s : 1+ @/ i— G 1 WGy 2 f
f—s. S S

kﬂ‘(g- . = i Ges! ‘
_.—/‘.P </ — eﬂ'aw—t-’?

= <

. - - - - ot g 2, 2 = -
_PJ/‘/./.J(}L/-L‘ Il Ub >y o7 k‘o L A—{fﬂhﬂy,{w,aa'\é/ Go i

f_ ” . 5

i«Ga s(eGur) -EM(I )
e | e

- f—

ﬂ.r.v(_:..b’z.dh $G@ =  ey= [/kr

f—-




Ay T o = o
))./,J/w/l«.b Jbﬁg_d,),%_/cuya’ k- i« ,_/ \_/,, /.:._,:LG:J/:); ¢ Qo M

3
1+GW s‘((«eﬁw) i Py
I SO S —3. B B

ka.; \..z\/bw sdu sGw

S—s-

7
Sy B

§lsel) ?i‘f-

AP TG ity e A iy S st @ T ol Bt

ke= ki SGep ka;—ﬂl-flzﬁw kysénf%w Y
§—r- J—- S

-

t ek
04 “/)ﬂi}’/? ‘/}"!f"p*{)y} (...Jc..&’db sk ‘u.j{r é-r/fwl:\_/lép,u ,(,JL..;) -1

oSl 7Y /"/““WU&V&;'M;‘&JQ"QJVQ(JP’ o wL




61

o
d‘/’/')‘&fd Wb s ] g wm: Agba’rn-/; (- ,ud_)u}/o.zfat" o rvf’cﬂlc,uﬂt -y

),wu'cff’w,,»ru// o c_..nl Lw’/u"oﬂjd)) .
| S e 5 ),»M/G'-' {{»J,)w,a) e p-bo»’cwr'
{xw“\/u p jlfu,u/yyf u’o)tf wly Pt & é-'féyfé//;fdy' ¥ »

e o : |
sﬂh v ctr-gety) s .aagéh:fa) W ,w{()?’ & o) b, ), bl O b S,
e{.; -t—-v(h -ﬁ% S—- q‘wr‘:‘) L:#’X}I ’ b J -

M=y 4~ | )
- (S+3X8+4)

> 4

T(u-.-.Y_.(.‘_'_ = ke (3+2) -
O (g 3XEh )+ leotsen)

R AN SRR

(i = bim 365 Eal=RI- Y1) = U5) - ROITW= £let (=TCs2)
o §—re
loo
Teeto ES ) B m(f«&‘ Y

e gy TSI




V48 62
Iyl 0 ifnﬂiﬂ”r"”’/”‘/ "ﬂ“"*‘”"’f“’f Ry

= e;rczﬁlw S f&hsm;((,n(,),&#_g_ﬂ oo (S+ %)
Eiyr c-‘(‘+5'.) (f4le) Hoo

.f'———q- :-___P

S(S+B)(S-elo) 1o ~ 100 5c5) ) S+ (A% 4hH0S xlee —jewg o

= __L s = _QM _L_’rr
'h‘”"*' s ( S35+ WTeis)~Ho4 " fi SS+/ )N 5pla)ples
P N tal L L NI 1. 3
jec
+ - kol e : » i "),///'
“‘*'4)?—» kes) | G >tk < Rl

= v A
f "‘"”d’ (,vs."/lwb(_,bg(lé)( ( Usyy (;,F

ff

(O T i p Sy s ily) i es? i

ko w;«m ‘-A?A’,""Q-'/’ 7] c&j\@

/. ‘,/" : ' 4 ’./ , & -‘/, i
W Lab 0 S gy | b Y gl bl ko) {fx’o}wcw:o'u%

i o |
yh w2 f./. ;y(_),;fga,a,,,bib ) A_/ﬂUu/// L,

kG e
2, - 2 ., . ~
’ 47%;‘."/{"‘-‘"4-3741‘—" M(...—J

1 D) i Gy [

( [ o sk s
vy -y ky - C"ff--’ )\JU/V 2
o k/f(sezl k
e = —— —_—
SCsez)ele siesek
3. =15/, = =5 Fun=2 =

k-f
= f;_-L= 2 = k=0‘nz=‘f — kre/= —




;,mz.uﬁu wc((p(),,o,}( coh =refr-gay er,z o'}',/ “HWB’(ADAJB'U&-G,JJ

Ry - R

/
u-u; L,acdba&»,; w C)x- (}au,;., (e @ dc....:) e r',u,q.b,, wg o

Blr-'/h—',m@: fﬂﬂb ol (s cy}f,d.d &4, J (, w4, b,J. uxww,,as'am ‘o
=

:kf: é:}u ,),w,.o\n o,:crfMe,_w dt.w LpL,)u» ,.Js’o,b o rl,ub

im eza-: - k’,pﬁh e

bwog =~ L, k=l SGsIH

J?a\ne;w ,..._1_




(3

>

 rpatond Gutrdes cat Log

» - re §

ﬂ_r‘!/

A A

k= .%.‘ - (,;/.;ar;va/t,:b,f//v!a"

L= kS




&

S e

a NTUIEAE RS SRR 7 | P 59,9 >
—z ...-p

(o ha PY ) Xty g S ot Do P : /\/




Modeling in the Time Domain

This chapter covers only state-space methods.

( Chapter Learning Outcomes )

After completing this chapter, the student will be able to:

® Find a mathematical model, called a state-space representation, for a linear, time-
invariant system (Sections 3.1-3.3)

Model electrical and mechanical systems in state space (Section 3.4)

Convert a transfer function to state space (Section 3.5)

Convert a state-space representation to a transfer function (Section 3.6)
Linearize a state-space representation (Section 3.7)

(Case Study Learning 0utcomes)

You will be able to demonstrate your knowledge of the chapter objectives with case
studies as follows:

® Given the antenna azimuth position control system shown on the front endpapers,
you will be able to find the state-space representation of each subsystem.

® Given a description of the way a pharmaceutical drug flows through a human being, you
will be able to find the state-space representation to determine drug concentrations in
specified compartmentalized blocks of the process and of the human body. You will also
be able to apply the same concepts to an aquifer to find water level.
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@ 3.1 Introduction

Two approaches are available for the analysis and design of feedback control
systems. The first, which we began to study in Chapter 2, is known as the classical,
or frequency-domain, technique. This approach is based on converting a system’s
differential equation to a transfer function, thus generating a mathematical model of
the system that algebraically relates a representation of the output to a representa-
tion of the input. Replacing a differential equation with an algebraic equation not
only simplifies the representation of individual subsystems but also simplifies
modeling interconnected subsystems.

The primary disadvantage of the classical approach is its limited applicability:
It can be applied only to linear, time-invariant systems or systems that can be
approximated as such.

A major advantage of frequency-domain techmiques is that they rapidly
provide stability and transient response information. Thus, we can immediately
see the effects of varying system parameters until an acceptable design is met.

With the arrival of space exploration, requirements for control systems
increased in scope. Modeling systems by using linear, time-invariant differential
equations and subsequent transfer functions became inadequate. The state-space
approach (also referred to as the modern, or time-domain, approach) is a unified
method for modeling, analyzing, and designing a wide range of systems. For example,
the state-space approach can be used to represent nonlinear systems that have
backlash, saturation, and dead zone. Also, it can handle, conveniently, systems with
nonzero initial conditions. Time-varying systems, (for example, missiles with varying
fuel levels or lift in an aircraft flying through a wide range of altitudes) can be
represented in state space. Many systems do not have just a single input and a single
output. Multiple-input, multiple-output systems (such as a vehicle with input
direction and input velocity yielding an output direction and an output velocity)
can be compactly represented in state space with a model similar in form and
complexity to that used for single-input, single-output systems. The time-domain
approach can be used to represent systems with a digital computer in the loop or to
model systems for digital simulation. With a simulated system, system response can
be obtained for changes in system parameters—an important design tool. The state-
space approach is also attractive because of the availability of numerous state-space
software packages for the personal computer.

The time-domain approach can also be used for the same class of systems
modeled by the classical approach. This alternate model gives the control systems
designer another perspective from which to create a design. While the state-space
approach can be applied to a wide range of systems, it is not as intuitive as the classical
approach. The designer has to engage in several calculations before the physical
interpretation of the model is apparent, whereas in classical control a few quick
calculations or a graphic presentation of data rapidly yields the physical interpretation.

In this book, the coverage of state-space techniques is to be regarded as an
introduction to the subject, a springboard to advanced studies, and an alternate
approach to frequency-domain techniques. We will limit the state-space approach to
linear, time-invariant systems or systems that can be linearized by the methods of
Chapter 2. The study of other classes of systems is beyond the scope of this book.
Since state-space analysis and design rely on matrices and matrix operations, you
may want to review this topic in Appendix G, located at www.wiley.com/college/nise,
before continuing.
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@ 3.2 some Observations

We proceed now to establish the state-space approach as an alternate method for
representing physical systems. This section sets the stage for the formal definition of
the state-space representation by making some observations about systems and their
variables. In the discussion that follows, some of the development has been placed in
footnotes to avoid clouding the main issues with an excess of equations and to ensure
that the concept is clear. Although we use two electrical networks to illustrate the
concepts, we could just as easily have used a mechanical or any other physical
system.

We now demonstrate that for a system with many variables, such as inductor
voltage, resistor voltage, and capacitor charge, we need to use differential equations
only to solve for a selected subset of system variables because all other remaining
system variables can be evaluated algebraically from the variables in the subset. Our
examples take the following approach:

1. We select a particular subset of all possible system variables and call the variables
in this subset state variables.

2, For an nth-order system, we write n simultaneous, first-order differential equations
in terms of the state variables. We call this system of simultaneous differential
equations state equations.

3. If we know the 1nitial condition of all of the state variables at f5 as well as the
system input for ¢ > tp, we can solve the simultaneous differential equations for
the state variables for ¢ > .

4. We algebraically combine the state variables with the system’s input and find all of
the other system variables for ¢ > ¢;. We call this algebraic equation the outpus
equation.

5. We consider the state equations and the output equations a viable representation of
the system. We call this representation of the system a state-space representation.

Let us now follow these steps through an example, Consider the RL network shown
in Figure 3.1 with an initial current of i(0).

1. We select the current, i(¢), for which we will write and solve a differential equation
using Laplace transforms.
2, We write the loop equation,

Ld—:+Ri = v(t)

- (3.1)

3. Taking the Laplace transform, using Table 2.2, Item 7, and including the initial
conditions, yields
LisI(s) — i(0)] + RI(s) = V(s)

Assuming the input, v(z), to be a unit step, u(f), whose Laplace transform is
V(s) = 1 /s, we solve for I(s) and get

(3.2)

1t i(0)
I(s) = % - +s~+§ (3.3)
"L, 7L

vil)

FIGURE 3.1
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from which
1
(0 — = (1 _ o~ (R/LN . ~(R/L)t
i(t) R(I e )+1(ﬂ)e (3*4)

The function i(r) is a subset of all possible network variables that we are able to
find from Eq. (3.4) if we know its initial condition, i(0), and the input, v(¢). Thus,
i(r) 1s a state variable, and the differential equation (3.1) is a state equation.

4. We can now solve for all of the other network variables algebraically in terms of
i(t) and the applied voltage, v(¢). For example, the voltage across the resistor is

vr(t) = Ri(1) (3.5)
The voltage across the inductor is
ve(f) = v(t) — Ri(r) (3.6)!

The derivative of the current is

2 - 20 ARi() (3.7)2

Thus, knowing the state variable, i(z), and the input, ¥(z), we can find the value, or
state, of any network variable at any time, ¢ > fp. Hence, the algebraic equations,
Eqs. (3.5) through (3.7), are output equations.

5. Since the variables of interest are completely described by Eq. (3.1) and Eqgs. (3.5)
through (3.7), we say that the combined state equation (3.1) and the output
equations (3.5 through 3.7) form a viable representation of the network, which we
call a state-space representation.

Equation (3.1), which describes the dynamics of the network, is not unique.
This equation could be written in terms of any other network variable. For example,
substituting i = vg/R into Eq. (3.1) yields

—=R v =) (3.8)

which can be solved knowing that the initial condition vz(0) = Ri(0) and
knowing v(¢). In this case, the state variable is vg(r). Similarly, all other
network variables can now be written in terms of the state variable, vz(f),
and the input, v(¢). Let us now extend our observations to a second-order
FIGURE 3.2 RLC network system, such as that shown in Figure 3.2.

vir) ~ C

1. Since the network is of second order, two simultaneous, first-order differential
equations are needed to solve for two state variables. We select i(¢) and g(7), the
charge on the capacitor, as the two state variables.

2. Writing the loop equation yields

L—+R:+—f drt = v(t) (3.9)

' Since v (1) = v(t) = va(t) = v(t) = Ri(r).
di
*Since E:'z %v;_{t} = %[u{t] — Ri(1)].
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3.2 Some Observations

Converting to charge, using i(r) = dq/dt, we get

dzq

dq pdq 1 _
Loz +Ro +5q =) (3.10)

But an nth-order differential equation can be converted to n simultaneous
first-order differential equations, with each equation of the form

dr.
—_— dpnXy +apxs + -+ QinXn + b,‘f{!’) {3.11)

dt
where each x; is a state variable, and the a;’s and b; are constants for linear, time-
invariant systems. We say that the right-hand side of Eq. (3.11) is a linear
combination of the state variables and the input, f{(1).

We can convert Eq. (3.10) into two simultaneous, first-order differential
equations in terms of i(t) and g(r). The first equation can be dg/dt = i. The
second equation can be formed by substituting [ i dt = q into Eq. (3.9) and solving
for di/dt. Summarizing the two resulting equations, we get

E = | (3123‘)
di 1 R. 1
&—I-—Rq—-zl'f'zl’(f) (312b)

. These equations are the state equations and can be solved simultaneously for the

state variables, g(f) and i(¢), using the Laplace transform and the methods of
Chapter 2, if we know the initial conditions for g(¢) and i(¢) and if we know v(z),
the input,

From these two state variables, we can solve for all other network variables. For
example, the voltage across the inductor can be written in terms of the solved state
variables and the input as

vi(t) = - 2<q(t) — RitO) + ) (3.13)°

Equation (3.13) is an output equation; we say that v, (r) is a linear combination of
the state variables, g(r) and i(r), and the input, v(z).

The combined state equations (3.12) and the output equation (3.13) form a viable
representation of the network, which we call a state-space representation.

Another choice of two state variables can be made, for example, vg(¢) and
ve(t), the resistor and capacitor voltage, respectively. The resulting set of simul-
taneous, first-order differential equations follows:

dl?g R R R

it 7 VR I ve + 7 v(1) (3.14a)
dl’(j _ 1
ar _RCR (3.14b)

*Since v, (f) = L(di/dr) = —(1/C)q — Ri + v(t), where di/dt can be found from Eq. (3.9),and [idt =gq.
1Since vg(t) = i(t)R,and ve(r) = (1/C) f i dt, differentiating vg(r) yields dvg /dt = R(di/dt) = (R/L)v; =

(R/L)v(t) — vg — ve|. and differentiating v (r) yields dve/dr = (1/C)i = (1/RC)vy.
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Chapter3  Modeling in the Time Domain

Again, these differential equations can be solved for the state variables if we know
the initial conditions along with v(r). Further, all other network variables can be
found as a linear combination of these state variables.

Is there a restriction on the choice of state variables? Yes! Typically, the
minimum number of state variables required to describe a system equals the
order of the differential equation. Thus, a second-order system requires a
minimum of two state variables to describe it. We can define more state variables
than the minimal set; however, within this minimal set the state variables must be
linearly independent. For example, if vg(¢) is chosen as a state variable, then i(¢)
cannot be chosen, because vg(r) can be written as a linear combination of i(z),
namely vg(t) = Ri(t). Under these circumstances we say that the state variables
are linearly dependent. State variables must be linearly independent; that is, no
state variable can be written as a linear combination of the other state variables,
or else we would not have enough information to solve for all other system
variables, and we could even have trouble writing the simultaneous equations
themselves.

The state and output equations can be written in vector-matrix form if the
system is linear. Thus, Eq. (3.12), the state equations, can be written as

x = Ax+ Bu (3.15)

where

= ) A= e ]

_ (4] 91 . _
“H“ B‘[IxL]‘“‘“”}

Equation (3.13), the output equation, can be written as

y = Cx + Du (3.16)

where

y=vi(t)y C=[-1/C —-R]: I=[q.1; D=1:. u=v(r)

)

We call the combination of Egs. (3.15) and (3.16) a state-space representation of the
network of Figure 3.2. A state-space representation, therefore, consists of (1) the
simultaneous, first-order differential equations from which the state variables can be
solved and (2) the algebraic output equation from which all other system variables
can be found. A state-space representation is not unique, since a different choice of
state variables leads to a different representation of the same system.

In this section, we used two electrical networks to demonstrate some principles
that are the foundation of the state-space representation. The representations
developed in this section were for single-input, single-output systems, where y,D,
and «in Eqgs. (3.15) and (3.16) are scalar quantities. In general, systems have multiple
inputs and multiple outputs. For these cases, y and « become vector quantities, and D
becomes a matrix. In Section 3.3 we will generalize the representation for multiple-
input, multiple-output systems and summarize the concept of the state-space
representation.




3.3 The General State-Space Representation

3.3 The General State-Space
Representation

Now that we have represented a physical network in state space and have a good
idea of the terminology and the concept, let us summarize and generalize the
representation for linear differential equations. First, we formalize some of the
definitions that we came across in the last section.

Linear combination. A linear combination of n variables, x;, for i = 1ton, is
given by the following sum, S:

S=K,xy + K,,_1xn-1 + -+ Kix1 (3.17}

where each K; is a constant.

Linear independence. A set of variables is said to be linearly independent if
none of the variables can be written as a linear combination of the others. For
example, given xi, Xz, and xs, if x, = 5x; + 6x3, then the variables are not linearly
independent, since one of them can be written as a linear combination of the other
two. Now, what must be true so that one variable cannot be written as a linear
combination of the other variables? Consider the example K>x» = Kyx; + Kaxs. If
no x; = 0, then any x; can be written as a linear combination of other variables, unless
all K; =0. Formally, then, variables x; for i=1ton, are said to be linearly
independent if their linear combination, S, equals zero only if every K; = 0 and
no x; =0 for all t > 0.

System variable. Any variable that responds to an input or initial conditionsin a
system.

State variables. The smallest set of linearly independent system variables such
that the values of the members of the set at time 7, along with known forcing
functions completely determine the value of all system variables for all ¢ > 1.

State vector, A vector whose elements are the state variables.

State space. The n-dimensional space whose axes are the state Ve

variables. This is a new term and is illustrated in Figure 3.3, where the [
state variables are assumed to be a resistor voltage, v, and a capacitor
voltage, ve. These variables form the axes of the state space. A

trajectory can be thought of as being mapped out by the state vector, i

X(¢), for a range of t. Also shown is the state vector at the particular !

& controlengineers.ir
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State space

time ¢ = 4.

State equations. A set of n simultaneous, first-order differential
equations with n variables, where the n variables to be solved are the
state variables.

Qutput equation. The algebraic equation that expresses the out-
put variables of a system as linear combinations of the state variables
and the inputs.

State vector, x(7)
State vector trajectory

State vector, x(4)

Now that the definitions have been formally stated, we define the  FIGURE 3.3 Graphic representation of state
state-space representation of a system. A system is represented in state  space and a state vector

space by the following equations:

| %= Ax+Bu (3.18)

y=Cx+ Du (3.19)
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for t > ¢y and 1nitial conditions, x(fy), where

X = state vector

x = derivative of the state vector with respect to time
y = output vector

u = input or control vector

A = system matrix

B = input matrix

C = output matrix

D = feedforward matrix

Equation (3.18) is called the state equation, and the vector x, the state vector, contains
the state variables. Equation (3.18) can be solved for the state variables, which we
demonstrate in Chapter 4. Equation (3.19) is called the output equation. This
equation is used to calculate any other system variables. This representation of a
system provides complete knowledge of all variables of the system at any ¢ > f,.

As an example, for a linear, time-invariant, second-order system with a single
input v(t), the state equations could take on the following form:

dx;

E = a1 x1+ ayx; + byv(r) (3.20a)
%E* =X +anx; + b:zi’(f) (320]3}

where x; and x; are the state variables. If there is a single output, the output equation
could take on the following form:

¥y =c1x; + c2xz + dyv(t) (3.21)

The choice of state variables for a given system is not unique. The requirement in
choosing the state variables is that they be linearly independent and that a minimum
number of them be chosen.

@ 3.4 Applying the State-Space Representation

In this section, we apply the state-space formulation to the representation of more
complicated physical systems. The first step in representing a system is to select the
state vector, which must be chosen according to the following considerations:

1. A minimum number of state variables must be selected as components of the state
vector. This minimum number of state variables is sufficient to describe com-

pletely the state of the system.

2. The components of the state vector (that is, this minimum number of state
variables) must be linearly independent.

Let us review and clarify these statements.

Linearly Independent State Variables

The components of the state vector must be linearly independent. For example,
following the definition of linear independence in Section 3.3, if x;, x>, and x5 are
chosen as state variables, but x3 = 5x; + 4x3, then x3 is not linearly independent of x,
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and x,, since knowledge of the values of x; and x; will yield the value of x;. Variables
and their successive derivatives are linearly independent. For example, the voltage
across an inductor, v, is linearly independent of the current through the inductor, i;,
since v;, = Ldiy /dt. Thus, v; cannot be evaluated as a linear combination of the
current, iy.

Minimum Number of State Variables
How do we know the minimum number of state variables to select? Typically, the
minimum number required equals the order of the differential equation describing
the system. For example, if a third-order differential equation describes the system,
then three simultaneous, first-order differential equations are required along with
three state variables. From the perspective of the transfer function, the order of the
differential equation is the order of the denominator of the transfer function after
canceling common factors in the numerator and denominator.
In most cases, another way to determine the number of state variables is to
count the number of independent energy-storage elements in the system.” The
number of these energy-storage elements equals the order of the differential
equation and the number of state variables. In Figure 3.2 there are two energy-
storage elements, the capacitor and the inductor. Hence, two state variables and two
state equations are required for the system.
If too few state variables are selected, it may be impossible to write particular
output equations, since some system variables cannot be written as a linear
combination of the reduced number of state variables. In many cases, it may be
impossible even to complete the writing of the state equations, since the derivatives
of the state variables cannot be expressed as linear combinations of the reduced
number of state variables.
If you select the minimum number of state variables but they are not linearly
independent, at best you may not be able to solve for all other system variables. At
worst you may not be able to complete the writing of the state equations.
Often the state vector includes more than the minimum number of state
variables required. Two possible cases exist. Often state variables are chosen to be
physical variables of a system, such as position and velocity in a mechanical system.
Cases arise where these variables, although linearly independent, are also decoupled.
That is, some linearly independent variables are not required in order to solve for
any of the other linearly independent variables or any other dependent system
variable. Consider the case of a mass and viscous damper whose differential
equation is M dv/dt + Dv = f(t), where v is the velocity of the mass. Since this is
a first-order equation, one state equation is all that is required to define this system
in state space with velocity as the state variable. Also, since there is only one
energy-storage element, mass, only one state variable is required to repre- —
sent this system in state space. However, the mass also has an associated Fis) ;? V(x)
position, which is linearly independent of velocity. If we want to include
position in the state vector along with velocity, then we add position as a state
variable that is linearly independent of the other state variable, velocity. FIGURE 3.4 Block diagram of a mass
Figure 3.4 illustrates what is happening. The first block is the transfer and damper

Xis)
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> Somelimes it is not apparent in a schematic how many independent energy-storage elements there are. It
is possible that more than the minimum number of energy-storage elements could be selected, leading to a
state vector whose components number more than the minimum required and are not linearly indepen-
dent. Selecting additional dependent energy-storage elements results in a system matrix of higher order
and more complexity than required for the solution of the stale equations.
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function equivalent to M dv(z)/dt + Dv(t) = f(t). The second block shows that we
integrate the output velocity to yield output displacement (see Table 2.2, Item 10).
Thus, if we want displacement as an output, the denominator, or characteristic
equation, has increased in order to 2, the product of the two transfer functions. Many
times, the writing of the state equations is simplified by including additional state
variables.

Another case that increases the size of the state vector arises when the added
variable 1s not linearly independent of the other members of the state vector. This
usually occurs when a variable is selected as a state variable but its dependence on
the other state variables is not immediately apparent. For example, energy-storage
elements may be used to select the state variables, and the dependence of the
variable associated with one energy-storage element on the variables of other
energy-storage elements may not be recognized. Thus, the dimension of the system
matrix is increased unnecessarily, and the solution for the state vector, which we
cover in Chapter 4, is more difficult. Also, adding dependent state variables affects
the designer’s ability to use state-space methods for design.®

We saw in Section 3.2 that the state-space representation is not unique. The
following example demonstrates one technique for selecting state variables and
representing a system in state space. Our approach is to write the simple derivative
equation for each energy-storage element and solve for each derivative term as a
linear combination of any of the system variables and the input that are present in
the equation. Next we select each differentiated variable as a state variable. Then we
express all other system variables in the equations in terms of the state variables and
the input. Finally, we write the output variables as linear combinations of the state
variables and the input.

G :ample 3.1 JD

Representing an Electrical Network

PROBLEM: Given the electrical network of Figure 3.5, find a state-space repre-
sentation if the output is the current through the resistor.

L
MNode |
- .fl.iil'}
FIGURE 3.5 Electrical H l R j ~C
network for representation in inl1) A1)
stale space

SOLUTION: The following steps will yield a viable representation of the network in
state space.

Step 1 Label all of the branch currents in the network. These include iy, iz, and i,
as shown in Figure 3.5.

®See Chapter 12 for state-space design techniques.
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Step 2 Select the state variables by writing the derivative equation for all energy-
storage elements, that is, the inductor and the capacitor. Thus,

dv _
T:: = ic (3.22)
di,

L—==v (3.23)

From Egs. (3.22) and (3.23), choose the state variables as the quantities that
are differentiated, namely v¢ and i;. Using Eq. (3.20) as a guide, we see that the
state-space representation is complete if the right-hand sides of Egs. (3.22) and
(3.23) can be written as linear combinations of the state variables and the input.

Since i and v, are not state variables, our next step 1s to express ic and v as
linear combinations of the state variables, v¢ and iz, and the input, v(7).

Step 3 Apply network theory, such as Kirchhoff’s voltage and current laws, to
obtain i~ and v, in terms of the state variables, v¢c and i;. At Node 1,
Ilc = —Ig + it
1 (3.24)

= — =V +I
R C L

which yields i¢ in terms of the state variables, v and i;.
Around the outer loop,
v = —ve + v(1f) (3.25)

which yields v; in terms of the state variable, v, and the source, v(#).

Step 4 Substitute the results of Eqgs. (3.24) and (3.25) into Eqgs. (3.22) and (3.23) to
obtain the following state equations:

dve 1 ,
C—dt-* = —Epc + 17 (3263)
DL vy Fo(t) (3.26b)
dt
or
dl-?c - 1 1.
—dT— —E(—:Uc +EfL (32?3)
dig 1 1
—_— = - - 3.27b
dt grergro (3.270)
Step 5 Find the output equation. Since the output is ig(r),
) 1
IR = EUC (3.28)

The final result for the state-space representation is found by representing
Egs. (3.27) and (3.28) in vector-matrix form as follows:

[#C] ) [-n/mm 1/C ‘:’c'] N [ 0 ]pm (3.29)

ir -1/L 0 iL /L
Ve
ir=[1/R Ul[i I (3.29b)
L.

where the dot indicates differentiation with respect to time.
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In order to clarify the representation of physical systems in state space, we will
look at two more examples. The first is an electrical network with a dependent
source. Although we will follow the same procedure as in the previous problem, this
problem will yield increased complexity in applying network analysis to find the
state equations. For the second example, we find the state-space representation of a
mechanical system.

G (ool 32 DD

Representing an Electrical Network with a Dependent Source

PROBLEM: Find the state and output equations for the electrical network shown in
Figure 3.6 if the output vector is y = [vg, ir,]’, where T means transpose.’

C
N[HJL‘ | + h( - Hl!l'.jl.'. 3
'\

S

i) R, L R, <1 Jvy (1)
FIGURE 3.6 Electrical ip (N i) igA1)
network for Example 3.2 '

SOLUTION: Immediately notice that this network has a voltage-dependent current
source.

Step 1 Label all of the branch currents on the network, as shown in Figure 3.6.

Step 2 Select the state variables by listing the voltage-current relationships for all
of the energy-storage elements:

di
Ef:uL (3.30a)
dve .

—- = c (3.30b)

From Eqgs. (3.30) select the state variables to be the differentiated variables. Thus,
the state variables, x; and x,, are

X1 =iL; X2=v¢ (3.31)
Step 3 Remembering that the form of the state equation is
x = Ax + Bu (3.32)

we see that the remaining task is to transform the right-hand side of Eq. (3.30)
into linear combinations of the state variables and input source current. Using
Kirchhoff’s voltage and current laws, we find v, and ic in terms of the state
variables and the input current source.

"See Appendix G for a discussion of the transpose. Appendix G is located at www.wiley.com/college/nise.
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Around the mesh containing L and C
VL = Ve + VR, = Ve + ig, K2 (3.33)

But at Node 2, ig, = ic + 4v,. Substituting this relationship for i, into Eq. (3.33) yields

ve =ve+ (ic +4vL)R; (3.34)
Solving for v, we get
1 i

Notice that since v is a state variable, we only need to find i in terms of the state
variables. We will then have obtained v, in terms of the state variables.
Thus, at Node 1 we can write the sum of the currents as

= i(t) - R, L (3.36)

where vg, = v;. Equations (3.35) and (3.36) are two equations relating v; and icin
terms of the state variables i; and v Rewriting Egs. (3.35) and (3.36), we obtain
two simultaneous equations yielding v, and ic as linear combinations of the state
variables i; and v

(1 —4Ry)vL — Riyic = ve (3.37a)
1

_R_vL - El‘: = EL — E(I) {3.371})
I

Solving Eq. (3.37) simultaneously for vz and ic yields

v = % {Rzi[_ —ve— Ryi(1)) (3.38)
and
L 1 —4R5)i ! 1—-4R,)i 3.39
!c—E{( - z)lL+R—IPc—( - 2)*“)] (3.39)
where
A= —[{1 —4R;) +E] (3.40)
Ry

Substituting Eqs. (3.38) and (3.39) into (3.30), simplifying, and writing the result in
vector-matrix form renders the following state equation:

el =la e vimen] L]

—Ry/(LA) .
- arayica) 0 (3.41)

=l A ;
il o
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130 Chapter 3 Modeling in the Time Domain

Step 4 Derive the output equation. Since the specified output variables are vg,
and ig,, we note that around the mesh containing C, L, and R,,

VR, = —Vc + VL (3-42‘3)
ir, = ic+4vg (3.42b)
Substituting Eqs. (3.38) and (3.39) into Eq. (3.42), vg, and ig, are obtained as linear

combinations of the state variables, i; and v¢. In vector-matrix form, the output
equation is

VR, | _ [R2/A —-(1+1/A) i —~R,/AT.
[ER;] B [ 1/A (1—-431)/[.&}21)}[ ] + [ ~1/A :II(I) (143}

In the next example, we find the state-space representation for a mechanical
system. It is more convenient when working with mechanical systems to obtain the
state equations directly from the equations of motion rather than from the energy-
storage elements. For example, consider an energy-storage element such as a spring,
where F = Kx. This relationship does not contain the derivative of a physical
variable as in the case of electrical networks, where i = Cdv/dr for capacitors,
and v = L di/dt for inductors. Thus, in mechanical systems we change our selection
of state variables to be the position and velocity of each point of linearly indepen-
dent motion. In the example, we will see that although there are three energy-
storage elements, there will be four state variables; an additional linearly indepen-
dent state variable is included for the convenience of writing the state equations. It is
left to the student to show that this system yields a fourth-order transfer function if
we relate the displacement of either mass to the applied force, and a third-order
transfer function if we relate the velocity of either mass to the applied force.

G (oo D

Representing a Translational Mechanical System

PROBLEM: Find the state equations for the translational mechanical system shown

in Figure 3.7.
—t— ! e
b K
| My 0000 a0
AN P4
FIGURE 3.7 Translational \ /
mechanical system Frictionless

SOLUTION: First write the differential equations for the network in Figure 3.7,
using the methods of Chapter 2 to find the Laplace-transformed equations of
motion. Next take the inverse Laplace transform of these equations, assuming zero
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initial conditions, and obtain

d* d
Mld—?+ D?+Kx1 Kx, =0 (3.44)
{iz
—Kxy + M, d‘? + Kx; = f(1) (3.45)

Now let d%x; /dt* = dv,/dt, and d*x; /dt* = dv,/dt, and then select xy, vq, x>, and
v, as state variables. Next form two of the state equations by solving Eq. (3.44) for
dvy/dt and Eq. (3.45) for dv,/dt. Finally, add dx;/dt = v, and dx;/dt = v, to
complete the set of state equations. Hence,

ﬁil:l
g - 3.46a
= +v ( )
dlr'] K D K
E — Em —— ul + E (3.46b)
dx
d_: +V2 (346':)
dvs K K 1 _
=t B (ORI
In vector-matrix form,
Xy 0 1 0 071 [x;] -0
ﬂj -uﬁf;ffbfﬁ_ '-uE)Jfﬁhfl .E(}ffhfl 0 W1 ()
= - t 3.47
X 0 0 0 1 X2 0 f) ( )
| V2 | = K/M, 0 -K/M; 0 | | vy | 1/M; |

where the dot indicates differentiation with respect to time. What is the output
equation if the output is x(r)?
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G skill-Assessment Exercise 3.1 —

PROBLEM: Find the state-space representation of the electrical network shown in
Figure 3.8. The output is v,(1).

G R

| £ AAN ——
I\
+

Cy = Voll)

vl

[+
/
~

FIGURE 3.8 Electric circuit
for Skill-Assessment
Exercise 3.1

Control Solutions
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ANSWER:
- 1/Cy 1/CG; -1/Cq7 (07
x= |-1/L 0 0 x+ | 1[v(r)
L 1/C; 0 -1/Cs 0.

y= (0 0 1)x

The complete solution is at www.wiley.com/college/nise.

G skill-Assessment Exercise 3.2 D

PROBLEM: Represent the translational mechanical system shown in Figure 3.9 in
state space, where xs(¢) is the output.

——\,{/) —t—= U>l1) —1— 117}

] 1 N/m | N-s/m | N/m | N-s/m

000 1ke : kg U000 ke |

A An— v —

- |l...

qH
aan

FIGURE 3.9 Translational mechanical system for Skill-Assessment Exercise 3.2

ANSWER:
90 10 0 0 01 [0
1 =1 0 1 0 o0 1
0 0 0 1 0 0 0
g = t
=1 1 -1 -1 1 ol*"|o]®
0O 0 0 0 0 1 0
0 0 1 -1] o
y= 0 0 O 1 O]z
where

I=[.I1 X1 X2 .i'z X3 i‘g]r

The complete solution is at www.wiley.com/college/nise.

( 3.5 Converting a Transfer Function to State Space

In the last section, we applied the state-space representation to electrical and
mechanical systems. We learn how to convert a transfer function representation to
a state-space representation in this section. One advantage of the state-space
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representation is that it can be used for the simulation of physical systems on the digital
computer. Thus, if we want to simulate a system that is represented by a transfer
function, we must first convert the transfer function representation to state space.

At first we select a set of state variables, called phase variables, where each
subsequent state variable is defined to be the derivative of the previous state
variable. In Chapter 5 we show how to make other choices for the state variables.

Let us begin by showing how to represent a general, nth-order, linear differ-
ential equation with constant coefficients in state space in the phase-variable form.
We will then show how to apply this representation to transfer functions.

Consider the differential equation

dﬂ y dn—l y

dy
—-+an_1—£ﬂm—+---+a1§+a{.}'=buu (3.48)

A convenient way to choose state variables is to choose the output, y(f), and its
(n—1) derivatives as the state variables. This choice is called the phase-variable
choice. Choosing the state variables, x;, we get

X1 =Yy (3.493)
X2 = % (34913)
d*y
X3 = F {349!:)
3.49d
o, (3.49d)
=g
and differentiating both sides yields
X = % (3.50a)
. 4
X = Eg (3.50b)
. dy
B=—7 (3.50c)
Yy (3.50d)
T

where the dot above the x signifies differentiation with respect to time.
Substituting the definitions of Eq. (3.49) into Eq. (3.50), the state equations are
evaluated as

X1 = X2 (3513)
%2 = x3 (3.51b)
(3.51¢)

Xp-1 = Xn

Xy = —ApX1 ~ A1X3 * + - —Qp_1Xn + bolt (3.51d)

& controlengineers.ir;
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where Eq. (3.51d) was obtained from Eq. (3.48) by solving for d"y/dr" and using
Eq. (3.49). In vector-matrix form, Eq. (3.51) become

C X1 ] -0 1 0 0 0 0 0 71 x1 7 C 0
X2 0 0 1 0 0 0 0 X2 0
X3 0 0 0 1 0 0 0 X3 0
] = . -+ i
Xp_1 0 0 0 0 0 0o ... 1 Xpn-1 0
| X, | L-a0 -ay —-ay —-ay —-a4 -as -+ —a,1]l x ] Lbo.
(3.52)

Equation (3.52) is the phase-variable form of the state equations. This form is easily
recognized by the unique pattern of 1's and 0’s and the negative of the coefficients
of the differential equation written in reverse order in the last row of the system
martrix.

Finally, since the solution to the differential equation is y(¢), or x,, the output
equation is

y=[1 00 - 0)f . (3.53)

Xn-1
Xn

In summary, then, to convert a transfer function into state equations in phase-
variable form, we first convert the transfer function to a differential equation by
cross-multiplying and taking the inverse Laplace transform, assuming zero initial
conditions. Then we represent the differential equation in state space in phase-
variable form. An example illustrates the process.

G :omple 3.4 JD

Converting a Transfer Function with Constant Term in Numerator

PROBLEM: Find the state-space representation in phase-variable form for the
transfer function shown in Figure 3.10(a).

SOLUTION:

Step 1 Find the associated differential equation. Since

C(s) 24

R(s) (s° + 9s2 + 265 + 24) (3.54)

cross-multiplying yields
(s* + 957 + 265 + 24)C(s) = 24R(s) (3.55)

The corresponding differential equation is found by taking the inverse Laplace
transform, assuming zero initial conditions:

&4 9¢ 4 26¢ + 24c = 24r (3.56)
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FIGURE 3.10 a. Transfer function; b. equivalent block diagram showing phase variables.
Note: y(t) = c(f).

Step 2 Select the state variables.
Choosing the state variables as successive derivatives, we get

Xy =c¢ (3.57a)
X2 =¢ (3.57b)
X3 =¢C (3.57¢)

Differentiating both sides and making use of Eq. (3.57) to find x; and x, and Eq.
(3.56) to find ¢ = x3, we obtain the state equations. Since the output is ¢ = xi, the
combined state and output equations are

X = X2 (3.58a)
X2 = X3 (3.58b)
X3 = —24x1 — 26x; — 9x3 + 24r (3.53[’:]
y=c=x (3.58d)
In vector-matrix form,
"X -0 1 07 TIx7 (07
x| = 0 0 1 x|+ |0 |r (3.59a)
X3 | =24 =26 -9] Lx3_ 24 |
X
y=[1 0 0]|x (3.59b)
LX3 .

Notice that the third row of the system matrix has the same coefficients as the
denominator of the transfer function but negative and in reverse order.

At this point, we can create an equivalent block diagram of the system of Figure
3.10(a) to help visualize the state variables. We draw three integral blocks as shown in
Figure 3.10(b) and label each output as one of the state variables, x;(f), as shown. Since
the input to each integrator is x,(¢). use Egs. (3.58a), (3.58b), and (3.58¢) to determine

& controlengineers.ir;
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the combination of input signals to each integrator. Form and label each input. Finally,
use Eq. (3.58d) to form and label the output, y(¢) = c(r). The final result of Figure 3.10
(b) is a system equivalent to Figure 3.10(a) that explicitly shows the state variables and
gives a vivid picture of the state-space representation.

MATLAB Students who are using MATLAB should now run ch3pl through e¢h3p4
in Appendix B. Youwill learn how to represent the systemmatrix
A, the input matrix B, and the output matrix C using MATLAE. You
will learn how to convert a transfer function to the state-space
representation in phase-variable form. Finally, Example 3.4

will be solved using MATLAB.

The transfer function of Example 3.4 has a constant term in the numerator. If a
transfer function has a polynomial in s in the numerator that is of order less than the
polynomial in the denominator, as shown in Figure 3.11(a), the numerator and
denominator can be handled separately. First separate the transfer function into two
cascaded transfer functions, as shown in Figure 3.11(b); the first is the denominator,
and the second is just the numerator. The first transfer function with just the
denominator is converted to the phase-variable representation in state space as
demonstrated in the last example. Hence, phase varable x, is the output, and the
rest of the phase variables are the internal variables of the first block, as shown in
Figure 3.11(b). The second transfer function with just the numerator yields

Y(s) = C(s) = (bas® + b1s + bo) X (s) (3.60)
where, after taking the inverse Laplace transform with zero initial conditions,
dle d.l’l
Yty =br—5 + b1~ + boxs (3.61)

But the derivative terms are the definitions of the phase variables obtained in the
first block. Thus, writing the terms in reverse order to conform to an output equation,

y(t) = boxy + byx2 + byx3 (3.62)

Hence, the second block simply forms a specified linear combination of the state
variables developed in the first block.

From another perspective, the denominator of the transfer function yields the
state equations, while the numerator yields the output equation. The next example
demonstrates the process.

R(s) bas? + bys + by Cls)
3353+ .112_1‘2 - ﬂl.r-l- ay
(a)

C(s)

R(s) Xi(s) bys? + bys+ by :

1
—_— e
a3s> + ayst + a5 + ag

Internal variables:

FIGURE 3.11 Decomposing a X(s), X3(s)
transfer function (b)
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G :-orple 3.5 T

Converting a Transfer Function with Polynomial in Numerator

PROBLEM: Find the state-space representation of the transfer function shown in
Figure 3.12(a).

H{'&] ‘l.2+ F.".E"" 1 {.-1I.‘I|:
—_— -
53+ 952 + 265 + 24
(a)
Rix) | X(x) Cisd
- - _‘-2+}'5+2 - -
4+ 9524 265+ 24

Internal variables:
X5(s), Xa(s)

(b)

i)

J A501) J- .l.:,[rq J’ t‘lh".i
- o

26 |~

FIGURE 3.12 a. Transfer
24 function; b. decomposed trans-
fer function; ¢. equivalent block
(e) diagram Note: y(1) = c(r).

SOLUTION: This problem differs from Example 3.4 since the numerator has a
polynomial in s instead of just a constant term.

Step 1 Separate the system into two cascaded blocks, as shown in Figure 3.12(b). The
first block contains the denominator and the second block contains the
numerator.

Step 2 Find the state equations for the block containing the denominator. We
notice that the first block’s numerator is 1/24 that of Example 3.4. Thus,
the state equations are the same except that this system’s input matrix is
1/24 that of Example 3.4. Hence, the state equation is

(X1 [ 0 1 07 [x7 07
j‘:z — 0 0 1 X2 + |0|r (363)
L X3 | =24 =26 =91 Lx;_ 1
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Trylt 3.1

Use the following MATLAB
statements to form an LTI
state-space representation
from the transfer function
shown in Figure 3.12(a). The
A matrix and B vector are
shown in Eq. (3.63). The C

vector is shown in Eq. (3.67).

num=(1 7 2];

den={1 9 26 24);
(A,B,C,Dl=tflss. .,
(num, den);

P={0 0 1;0 1 0;1 0 0);
A=Iinv (P)+A*P

B=1inv (P)*B

C=Cx*P

24 ;
(R \_______.-—-”
Ixmxv - - . y
& controlengineers.ir
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Step 3 Introduce the effect of the block with the numerator. The second block of
Figure 3.12(b), where b; = 1, by = 7, and by = 2, states that

C(s) = (bas” + bys + bo) X 1(s) = (s* + 7s + 2) X (s) (3.64)

Taking the inverse Laplace transform with zero initial conditions, we get
=¥ + Tk + 2%, (3.65)

But

Hence,
(3.66)

Thus, the last box of Figure 3.11(b) “collects™ the states and generates the output
equation. From Eq. (3.66),

y = c(t) = baxz + b1xa + box) = x3 +X;, +2x

FII y ‘rxl =
y=|by by b|xl=[(2 7 1||x; (3.67)
X3 ] X3

Although the second block of Figure 3.12(b) shows differentiation, this block was
implemented without differentiation because of the partitioning that was applied
to the transfer function. The last block simply collected derivatives that were
already formed by the first block.

Once again we can produce an equivalent block diagram that vividly repre-
sents our state-space model. The first block of Figure 3.12(b) is the same as Figure
3.10(a) except for the different constant in the numerator. Thus, in Figure 3.12(c)
we reproduce Figure 3.10(b) except for the change in the numerator constant,
which appears as a change in the input multiplying factor. The second block of
Figure 3.12(b) 1s represented using Eq. (3.66), which forms the output from a linear
combination of the state variables, as shown in Figure 3.12(c).

G lill-Assessment Exercise 3.3 JEEEEEEEEED

WileyPLUS

Control Solutions

PROBLEM: Find the state equations and output equation for the phase-variable

. : 25 + 1
representation of the transfer function G(s) = T2 7510
ANSWER:

0 1 0
X = X + r(t)
-9 -7 ]

y=[1 2]x

The complete solution is at www.wiley.com/college.nise.
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Transfer Function

In Chapters 2 and 3, we have explored two methods of representing systems: the

transfer function representation and the state-space representation. In the last

section, we united the two representations by converting transfer functions into

state-space representations. Now we move in the opposite direction and convert the

state-space representation into a transfer function.
Given the state and output equations

take the Laplace transform assuming zero initial conditions:

X = Ax + Bu
y=Cx+ Du

sX(s) = AX(s) + BU(s)
Y(s) = CX(s) + DU(s)

Solving for X(s) in Eq. (3.69a),

(s1 — A)X(s) = BU(s)

or

X(s) = (sI— A)"'BU(s)

where I is the identity matrix.

Substituting Eq. (3.71) into Eq. (3.69b) yields

Y(s) = C(sI — A)"'BU(s) + DU(s) = [C(sT — A)"'B + D]U(s)

We call the matrix [C(sI — A)™'B + D] the transfer function matrix, since it relates
the output vector, Y(s), to the input vector, U(s). However, if U(s) = U(s) and
Y(s) = Y(s) are scalars, we can find the transfer function,

T(s) =

Y(s) _
Us)

CsI-A)'B+D

Let us look at an example.

(3.68a)

(3.68b)

(3.69a) <) )...-I’-\)(Ls\-,:%\)b)
(3.69) v

S | sy
(3.70) b—l_ 0 X(5)="QIS)

(3.71)

Q)

OK)

”,
_.ﬁ" o i
—

(3.72)

(3.73)

®The Laplace transform of a vector is found by taking the Laplace transform of each component. Since %
consists of the derivatives of the state variables, the Laplace transform of x with zero initial conditions
yields each component with the form sX(s), where X(s) is the Laplace transform of the state variable.
Factoring out the complex variable, s, in each component yields the Laplace transform of x as 5 X(s), where
X(s) is a column vector with components X,(s).
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G orolc 3. D

State-Space Representation to Transfer Function

PROBLEM: Given the system defined by Eq. (3.74), find the transfer function,
T(s) = Y(s)/U(s), where U(s) is the input and Y(s) is the output.

"0 1 07 T[107

x=| 0 0 1(x+{0|u (3.74a)
-1 -2 3] |o]

y=[1 0 Ox (3.74b)

SOLUTION: The solution revolves around finding the term (sI—A)™' in
Eq. (3.73).” All other terms are already defined. Hence, first find (s — A):

s 0 07 -0 1 0 s —1 0 7
sI-A)= |0 s 0| - 0 0 1| =10 s -1 (3.75)
0 0 s5._ -1 =2 =34 |1 2 5+4+3_

Now form (sI — A)™':

(2 +35+2) s+3 17
-1 s(s+3) s
_1 adisI—A - _ 2
(A-A)t - 2A6I-4) 1 = (+1) 5. (3.76)
 det(sI - A) S +352 425+ 1
Substituting (sI — A)™', B, C, and D into Eq. (3.73), where
10
a “ Sl_/k)ﬂ::t B= 0
/ L 0 -
u' C=[1 0 0]
.2 r‘} D=0
r_,(’?'/ we obtain the final result for the transfer function:
10 35+ 2
T(s) = 29" +35+2) (3.77)
I $?+3s2+25+1
m Students who are using MATLAB should now run ch3p5 in Appendix B.
Youwill learn how to convert a state-space representation to a
transfer function using MATLAB. You can practice by writing a
MATLAB program to solve Example 3.6.
Symbolic Math , .
m Studentswho areperforming the MATLABexercises andwant toexplore

the added capability of MATLAR's Symbolic Math Toolbox should now
run ch3spl in Appendix F located at www.wiley.com/college/nise.
Youwill learn howtouse the SymbolicMath Toolbox towritematrices
and vectors. You will see that the Symbolic Math Toolbox yields
an alternative way to use MATLAB to solve Example 3.6.

?See Appendix G. It is located at www.wiley.com/college/nise and discusses the evaluation of the matrix
Inverse,
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@I skill-Assessment Exercise 3.4 D

PROBLEM: Convert the state and output equations shown in Eq. (3.78) to a

transfer function. Trylt 3.2

Use the following MATLAB

-4 -1.5 k. and the Control System
X = [ ] X+ ] u(r) (3.78a)  Toolbox statements to obtain
4 0 the transfer function shown in
y=[15 0.625]x (3.78b) ?l:::l the stalil:::-r:f;ﬂ;:}s:;.d
sentation of Eq. (3,78).

ANSWER: A={-4 =¥.5;970);
B={2 W':

35+ 5 c={1.5 0\825];

= D=0;
s2+4s5+6 T=ssl(,B,C,D);

LHPT (T)

G(s)

The complete solution is located at www.wiley.com/college/nise.

In Example 3.6, the state equations in phase-variable form were converted to
transfer functions. In Chapter 5, we will see that other forms besides the phase-
variable form can be used to represent a system in state space. The method of finding
the transfer function representation for these other forms is.the same as that

presented in this section.

@ 3.7 Linearization

A prime advantage of the state-space representation over the transfer function
representation is the ability to represent systems with nonlinearities, such as the
one shown in Figure 3.13. The ability to represent nonlinear systems does not imply the
ability to solve their state equations for the state variables and the output. Techniques
do exist for the solution of some nonlinear state equations, but this study is beyond the
scope of this course. However, in Appendix H, located at www.wiley.com/college/nise,

il
- [T e T

FIGURE 3.13 Walking robots, such as Hannibal shown here, can be used to explore hostile
environments and rough terrain, such as that found on other planets or inside volcanoes.
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which is chosen to allow us to see vividly the effects of backlash in the gears driven by
the motor. As the motor reverses direction, the output shaft remains stationary while
the motor begins to reverse. When the gears finally connect, the output shaft itself
begins to turn in the reverse direction. The resulting response is quite different from
the linear response without backlash.

199

G skill-Assessment Exercise 4.3 D

PROBLEM: Use MATLAB's Simulink to reproduce Figure 4.31.

ANSWER: See Figure 4.31.

Simulink

Now that we have seen the effects of nonlinearities on the time response, let us
return to linear systems. Our coverage so far for linear systems has dealt with finding
the time response by using the Laplace transform in the frequency domain. Another
way to solve for the response is to use state-space techniques in the time domain.
This topic is the subject of the next two sections.

4.10 Laplace Transform Solution
of State Equations

In Chapter 3, systems were modeled in state space, where the state-space represen-

tation consisted of a state equation and an output equation. In this section, we use

the Laplace transform to solve the state equations for the state and output vectors.
Consider the state equation

. X =Ax + Bu (4.92)
and the output equation

y=Cx+Du (4.93)
Taking the Laplace transform of both sides of the state equation yields
sX(s) — x(0) = AX(s) + BU(s) (4.94)

In order to separate X(s), replace sX(s) with sIX(s), where I is an nxn
identity matrix, and # is the order of the system. Combining all of the X(s) terms,
we get

(sI — A)X(s) = x(0) + BU(s) (4.95)

Solving for X(s) by premultiplying both sides of Eq. (4.95) by (sI — A)~', the final
solution for X(s) is

_J;[s] = (sI — A)"'x(0) + (sI — A)"'BU(s)

4 (496

_ adj(sT - A)
= get(si &) X(© + BUG)

—) ? Slale Space

P2 foU-—-ﬁ)
xn

- ~1 =5 ™ 2
b = Fwle + P~ ‘f/ Gl‘ﬁ) /—%Um)J
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Taking the Laplace transform of the output equation yields

Y(s) = CX(s) + DU(s) (4.97)

Eigenvalues and Transfer Function Poles

We saw that the poles of the transfer function determine the nature of the transient
response of the system. Is there an equivalent quantity in the state-space represen-
tation that yields the same information? Section 5.8 formally defines the roots of
det(sl — A) = 0 (see the denominator of Eq. (4.96)) to be eigenvalues of the system
matrix, A.” Let us show that the eigenvalues are equal to the poles of the system’s
transfer function. Let the output, Y(s), and the input, U(s), be scalar quantities Y(s)
and U(s), respectively. Further, to conform to the definition of a transfer function, let
x(0), the initial state vector, equal 0, the null vector. Substituting Eq. (4.96) into
Eq. (4.97) and solving for the transfer function, Y (s)/U(s), yields

Y(s) [adj(sl ~A)

U(s)  [det(sI — A)

]B+D

_ Cadj(sI - A)B + D det(sI - A)
- det(sI — A) (4.98)

The roots of the denominator of Eq. (4.98) are the poles of the system. Since the
denominators of Egs. (4.96) and (4.98) are identical, the system poles equal the
eigenvalues. Hence, if a system is represented in state-space, we can find the poles
from det(sI — A) = 0. We will be more formal about these facts when we discuss
stability in Chapter 6.

The following example demonstrates solving the state equations using the
Laplace transform as well as finding the eigenvalues and system poles.

G :omple 4.1 D

Laplace Transform Solution; Eigenvalues and Poles
PROBLEM: Given the system represented in state space by Eqgs. (4.99),
0 1 0] 0]
x=| 0 0 1|x+|0]|e” (4.99a)
24 -26 -9 1]
y=[1 1 0]x (4.99D)
-
x(0) = | 0 (4.99¢)
L2..

®Sometimes the symbol A is used in place of the complex variable s when solving the state equations
without using the Laplace transform. Thus, it is common to see the characteristic equation also written as

det (Al - A) = 0.
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do the following:

a. Solve the preceding state equation and obtain the output for the given
exponential input.

b. Find the eigenvalues and the system poles.

SOLUTION:

a. We will solve the problem by finding the component parts of Eq. (4.96),
followed by substitution into Eq. (4.97). First obtain A and B by comparing
Eq. (4.99a) to Eq. (4.92). Since

s 0 0
si=10 s 0 (4.100)
0 0 s
then
s -1 0 |
SI-A)=|0 s -1 (4.101)
(24 26 s+9
and
(s> 4+95+26) (s+9) 1]
—24 5%+ 9s )
L L 24 —(26s +24) s* |
(sI—A) = (4.102)

53 4+ 952 + 265 + 24

Since U(s) (the Laplace transform for e™*) is 1/(s + 1), X(s) can be calculated.
Rewrnting Eq. (4.96) as

X(s) = (sI — A)"'[x(0) + BU(s)] (4.103)
and using B and x(0) from Egs. (4.99a) and (4.99c), respectively, we get
XS =7 3531;(; ﬁﬂﬂsﬁ{f i) 2) (4.104a)
X20) =55 1(}%;:_ 21;:: : j;()s ) (4.104b)
X3(8) = (s + ; §{Z.:Z+_2)2(1:; 32)2- + 4) (4.104c)

The output equation is found from Eq. (4.99b). Performing the indicated addition
yields

Y(s)=[1 1 0]| Xa(s) | = Xi(s) + Xa(s) (4.105)

201
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Symbolic Math
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or

(941287 + 165+ 5)
s+ D(s+2)(s+3) (s +4)

65 19 115
s+2 s+3 s+4

Y(s)

(4.106)

where the pole at —1 canceled a zero at —1. Taking the inverse Laplace
transform,

y(t) = —6.5¢7% +19¢ — 11.5¢ (4.107)

b. The denominator of Eq. (4.102), which is det(sI — A), is also the denominator
of the system’s transfer function. Thus, det(sI — A) = 0 furnishes both the
poles of the system and the eigenvalues —2, — 3, and —4.

Students who are performing the MATLAB exercises and want to
explore the added capability of MATLAB's Symbolic Math Toolbox
should now run chd4spl in Appendix F at www.wiley.com/college/
nise. Youwill learn how to solve state equations for the output
response using the Laplace transform. Example 4.11 will be
solved using MATLAB and the Symbolic Math Toolbox,

G skill-Assessment Exercise 4.9 JEENEEEEEED

wileyPLUS

Control Solutions

Trylt 4.5

Use the following MATLAB
and Symbolic Math Toolbox
statements to solve Skill-
Assessment Exercise 4.9,

Syms s
A=[0 2;-3 ~5];B+H0;1];
C=[1 3):X042;1);
U=1/(s+1);
I=[10:;0.1]);
X=((s*I=A)"-1)*%...
(X0 +B*U);
Y=C*X;Y=simplify(Y);
y=1ilaplace (Y);
pretty (y)
eig(A)

PROBLEM: Given the system represented in state space by Eqgs. (4.108),

[ ﬂ 2] [U
X = X+ e’ (4.108a)
-3 =5 1
y::[] 3]1 PLlDBb)
2
x(0) = [1} (4.108c)

do the following:

a. Solve for y(f) using state-space and Laplace transform techniques.
b. Find the eigenvalues and the system poles.

ANSWERS:

a. y(t) = —0.5¢™" — 12¢% 4+ 17.5¢*
b- -21. _3

The complete solution is located at www.wiley.com/college/nise.
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4.11 Time I_Jomain Solution of State
Equatlons Y(€=d— ‘)LL.:;)

We now look at another technique for solving the state equations. Rather than using msme -y

the Laplace transform, we solve the equations directly in the time domain using a

method closely allied to the classical solution of differential equations. We will find

that the final solution consists of two parts that are different from the forced and /1 (Jc\ A 1&)

natural responses.
The solution in the time domain is given directly by

| — N
Cﬁ+J _ E.A_t x(?) =EAI1(D)+/H eAt-"1Bu(7)dr P 1(_.[.1 V)

(4.109) - ———

- EI{(S'I _74;-4 = @(1)x(0) + ‘/; ®(r — 7)Bu(r)dr CA.JC‘E) = _ﬁ' ,YG"J'

where ®(f) = e by definition, and which is called the state-transition matrix.
Eq. (4.109) is derived in Appendix I located at www.wiley.com/college/mise. Readers c:f;'r
who are not familiar with this equation or who may want to refresh their memory X (:H k) Y ( “)
should consult Appendix I before proceeding.
Notice that the first term on the right-hand side of the equation is the response

due to the initial state vector, x(0). Notice also that it is the only term dependent on ‘H t
the initial state vector and not the input. We call this part of the response the zero-
input response, since it is the total response if the input is zero. The second term, 'e

called the convolution integral, is dependent only on the input, u, and the input
matrix, B, not the initial state vector. We call this part of the response the zero-state
response, since it is the total response if the initial state vector is zero. Thus, there is a
partitioning of the response different from the forced/natural response we have seen

when solving differential equations. In differential equations, the arbitrary constants ) Z
of the natural response are evaluated based on the initial conditions and the initial
values of the forced response and its derivatives. Thus, the natural response’s v 7

amplitudes are a function of the initial conditions of the output and the input. In
Eq. (4.109), the zero-input response is not dependent on the initial values of the

input and its derivatives. It is dependent only on the initial conditions of the state { 2
vector. The next example vividly shows the difference in partitioning. Pay close = 'A
attention to the fact that in the final result the zero-state response contains not only . ?

the forced solution but also pieces of what we previously called the natural response.
We will see in the solution that the natural response is distributed through the zero-

input response and the zero-state response. _‘: Z:t
Before proceeding with the example, let us examine the form the elements of ‘A_{. -
®(t) take for linear, time-invariant systems. The first term of Eq. (4.96), the Laplace ¢ 7*6
transform of the response for unforced systems, is the transform of ®(f)x(0), the
zero-input response from Eq. (4.109). Thus, for the unforced system 4 Zit
Zx(t)] = Z[®(t)x(0)] = (s — A)"'x(0) (4.110) -ﬂf & 76]
from which we can see that (s — A)™'is the Laplace transform of the state- rransmﬂﬂ pu

matrix, ®(t). We have already seen that the denominator of (sI—A)™" is a

polynomial in s whose roots are the system poles. This polynomial is found from [
é f_ 7&'



) ~ matrix of the form
Sen- \ >
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the equation det(sI — A) = 0. Since

adj(sI — A)
det(sI — A)

LI-A) ) = 2! [

] — (1) (4.111)

each term of ®(r) would be the sum of exponentials generated by the system’s poles.

Let us summarize the concepts with two numerical examples. The first example
solves the state equations directly in the time domain. The second example uses
the Laplace transform to solve for the state-transition matrix by finding the inverse
Laplace transform of (sI — A)~".

G :xomple 4.12 D

Time Domain Solution

PROBLEM: For the state equation and initial state vector shown in Egs. (4.112),
where u(f) is a unit step, find the state-transition matrix and then solve for x().

o o<| ® 2 . 4.112a
\ “ 0= [0+ juo (4.112a)
L v i}

C AL\\X\ (0 ! (4.112b)
x(0) = .
’ XN\ '=1o
\ ~\U -
\
_ g SOLUTION: Since the state equation 1s in the form
-
X(r) = Ax(r) + Bu(z) (4.113)
\X \ find the eigenvalues using det(sI — A) = 0. Hence, s* 4+ 65 + 8 = 0, from which
'&/ s; = —2 and s; = —4. Since each term of the state-transition matrix is the sum of
\X\ responses generated by the poles (eigenvalues), we assume a state-transition

K -2 K —4¢ K -2 + K E—m
d}(r} _ ( 167 ° + Kpe ) ( 3€ 4 ) (4114]
(Kse™® + Kge™*) (K7e % + Kge™)

In order to find the values of the constants, we make use of the properties of
the state-transition matrix derived in Appendix J located at www.wiley.com/

college/nise.
®(0) =1 (4.115)
Ki+K;=1 (4.116a)
Ki+Ks=0 (4.116b)
Ks+Keg=0 (4.116¢)
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and since
®0)=A (4.117)
then
-2K1 —4K> =10 (4.118a)
—2K; —4K; =1 (4.118b)
—2Ks —4Kg = -8 (4.118c)
—2K7 —4Kg = -6 (4.118d)

The constants are solved by taking two simultaneous equations four times. For

example, Eq. (4.116a) can be solved simultaneously with Eq. (4.118a) to yield the
values of K; and K>. Proceeding similarly, all of the constants can be found.

Therefore,
] (ze—zx _ E—dr) (15—1: _ le—lt) |
®(1) = 2 2 (4.119)
| (—de ¥ +4e7Y)  (—e¥ 4+2e7%)
Also,
] (1‘&*2[?—-1'} . }_E—I{f—r}) ’
D(t—1)B= | 2 2 (4.120)
( _ e 2t-1) 4 2»:_"‘:'_"3)
Hence, the first term of Eq. (4.109) is
| (2% — e7%)
®(1)x(0) = (4.121)
(—Ae7? +de)
The last term of Eq. (4.109) is
'1-z:f' 1_4;f'4 1
—e e'dr— e e'dr
t 2 0 2 0
f ®(r — 7)Bu(r)dr =
0 t r
—e‘l'f e¥dr + 2" | e*dr
X 0 0 )
-l i
1 5 1 _g
2% (4.122)

Notice, as promised, that Eq. (4.122), the zero-state response, contains not only the
forced response, 1/8, but also terms of the form Ae=% and Be™¥ that are part of
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what we previously called the natural response. However, the coefficients, A and
B, are not dependent on the initial conditions.
The final result is found by adding Egs. (4.121) and (4.122). Hence,

(1 7 5 7 4]
P E + EE — EE
x(1) = ®(1)x(0) + f ®©(t — r)Bu(t)dr = (4.123)
’ - ?—E‘E’ + EE“"'
[ 2 2 J

G 5omple 4.3 D

Symbolic Math

State-Transition Matrix via Laplace Transform
PROBLEM: Find the state-transition matrix of Example 4.12, using (sI — A).

SOLUTION: We use the fact that d(¢) is the inverse Laplace transform of
(sI — A)~'. Thus, first find (sI — A) as

s -1
sl —A) = 4,124
( ) [8 {s+6}] ( )
from which
[3+-6 l] - 546 | _
[ -8 s s24+65s+8 s2465+8
]— —

(s — A) = T TR 3 ; (4.125)

52 4+65+8 5246548

Expanding each term in the matrix on the right by partial fractions yields

[ 2 B 1) (l{2_1/2)'
s+2 s+4 s+2 s+4

sI-A)" = 4.126
( ) -4 N 4 ) ( -1 N 2 ) ( )
\s+2 s5+4 s+2 s+4)
Finally, taking the inverse Laplace transform of each term, we obtain
! (zf-zr _ Euchr} (1 e ie—dr) ]
®(1) = R 2 (4.127)
(—de™ ¥ 4 de7%)  (—e ¥ 42e7Y) |

Students who are performing the MATLAB exercises and want to
explore the added capability of MATLAB's Symbolic Math Toolbox
should now run chdsp2 in Appendix F at www.wiley.com/college/
nise. Youwill learn how to solve state equations for the output
response using the convolution integral. Examples 4.12and 4.13
will be solved using MATLAB and the Symbolic Math Toolbox.
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